

o deales

Date Printed: Sep 27, 2016 Order Number: FOOD16B

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Master Agreement

Order Date: 2016-09-27

CORRECT ORDER NUMBER
MUST APPEAR ON ALL PACKAGES,
INVOICES, AND SHIPPING PAPERS.
QUESTIONS CONCERNING THIS
ORDER SHOULD BE DIRECTED TO
THE DEPARTMENT CONTACT.

Procurement Folder: 256150
Reason for Modification:
Effective Start Date: 2016-10-01
Effective End Date: 2017-09-30

Vendor Customer Code: 000000179971
US FOODS
2575 VIRGINIA AVE

HURRICANE

WV 25526

US
Vendor Contact Phone: (999) 999-9999
Extension:
Discount Percentage: 0.0000
Discount Days: 0

	NVOICETO		SHIP TO
VARIOUS AGENCY LO	CATIONS	STATE OF WEST VIRGI	NIA
AS INDICATED BY ORD	DER	VARIOUS LOCATIONS	AS INDICATED BY ORDER
No City	WV 99999	No City	WV 99999
US		us	

AGENCY COPY

Total Order Amount	Open End	

FORM ID : WV_PRC_CMA_001 8/14

109131111		
PURCHASING DIVISION AUTHORIZATION	ATTORNEY GENERAL APPROVAL AS TO FORM	ENCUMBRANCE CERTIFICATION
SIGNED BY:	SIGNED BY	SIGNED BY:
DATE: ////////////////////////////////////	MATE: TO CHURCH	DATE: Devery oler
ELECTRONIC SIGNATURE ON FILE	ELECTRONIC SIGNATURE ON FILE	ELECTRONIC SIGNATURE ON FILE
		TICE A note

Page: 1

Extended Description:

STATEWIDE CONTRACT - The vendor, US Foods, agrees to enter into an open-end statewide contract to supply food to all West Virginia state agencies and political subdivisions, per the specifications, terms and conditions, bid requirements, Addenda Nos. 1 through 7 and the vendor's proposal dated 9/08/2016 incorporated herein by referenced and made a part of hereof. See attached pricing pages for contract pricing. Items with no bid or zero amount in the unit price column cannot be purchased from this contract.

Invoices for beverages will include a separate line for beverage tax.

AWARD: The Contract shall be awarded to the Vendors that provide the Contract Items meeting the required specifications per line item at the lowest bid scenario as shown on the Pricing Pages. Each successful vendor (it is anticipated that a multiple award will be issued and agencies shall order from the lowest-cost provider for the item that meets their requirement). Successful vendors shall be provided an excel spreadsheet (hard copy) of the items awarded on that contract.

The item number shown on the item in the CRFQ shall remain the same through the award process. This means that an award may be for item 1, 15, 20, etc.

Agencies should process an ADO (Agency Delivery Order) when processing an order.

Vendor Contact: Michael Virag US Foods - 304-201-6290 Phone

Line	Commodity Code	Manufacturer	Model No	Unit	Unit Price
1	93131607			LS	\$0.000000
	Service From	Service To			

Commodity Line Description: Food distribution services

Extended Description:

See attached pricing pages.

Date Printed: Sep 27, 2016 Order Number: FOOD16B Page: 2 FORM ID: WV_PRC_CMA_001 8/14

		Document Phase	Document Description	Page 3
F	OOD16B	Draft	Statewide contract for food supplies	of 3

ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

GENERAL TERMS AND CONDITIONS:

- 1. CONTRACTUAL AGREEMENT: Issuance of a Award Document signed by the Purchasing Division Director, or his designee, and approved as to form by the Attorney General's office constitutes acceptance of this Contract made by and between the State of West Virginia and the Vendor. Vendor's signature on its bid signifies Vendor's agreement to be bound by and accept the terms and conditions contained in this Contract.
- 2. **DEFINITIONS:** As used in this Solicitation/Contract, the following terms shall have the meanings attributed to them below. Additional definitions may be found in the specifications included with this Solicitation/Contract.
- 2.1. "Agency" or "Agencies" means the agency, board, commission, or other entity of the State of West Virginia that is identified on the first page of the Solicitation or any other public entity seeking to procure goods or services under this Contract.
- 2.2. "Bid" or "Proposal" means the vendors submitted response to this solicitation.
- 2.3. "Contract" means the binding agreement that is entered into between the State and the Vendor to provide the goods or services requested in the Solicitation.
- **2.4.** "Director" means the Director of the West Virginia Department of Administration, Purchasing Division.
- 2.5. "Purchasing Division" means the West Virginia Department of Administration, Purchasing Division.
- 2.6. "Award Document" means the document signed by the Agency and the Purchasing Division, and approved as to form by the Attorney General, that identifies the Vendor as the contract holder.
- 2.7. "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.
- 2.8. "State" means the State of West Virginia and/or any of its agencies, commissions, boards, etc. as context requires.
- 2.9. "Vendor" or "Vendors" means any entity submitting a bid in response to the Solicitation, the entity that has been selected as the lowest responsible bidder, or the entity that has been awarded the Contract as context requires.

3. CONTRACT TERM; RENEWAL; EXTENSION: The term of this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below:
▼ Term Contract
Initial Contract Term: This Contract becomes effective on October 1, 2016 and extends for a period of one (1) Renewal Term: This Contract may be renewed upon the mutual written consent of the Agency and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any request for renewal should be submitted to the Purchasing Division thirty (30) days prior to the expiration date of the initial contract term o appropriate renewal term. A Contract renewal shall be in accordance with the terms and conditions of the original contract. Renewal of this Contract is limited to three (3) successive one (1) year periods or multiple renewal periods of less than one year, provided that the multiple renewal periods do not exceed one months in total. Automatic renewal of this Contract is prohibited. Notwithstanding the foregoing, Purchasing Division approval is not required on agency delegated or exempt purchases. Attorney General approval may be required for vendor terms and conditions.
Delivery Order Limitations: In the event that this contract permits delivery orders, a delivery order may only be issued during the time this Contract is in effect. Any delivery order issued within one year of the expiration of this Contract shall be effective for one year from the date the delivery order is issued. No delivery order may be extended beyond one year after this Contract has expired.
Fixed Period Contract: This Contract becomes effective upon Vendor's receipt of the notice to proceed and must be completed within days.
Fixed Period Contract with Renewals: This Contract becomes effective upon Vendor's receipt of the notice to proceed and part of the Contract more fully described in the attached specifications must be completed within days.
Upon completion, the vendor agrees that maintenance, monitoring, or warranty services will be provided for one year thereafter with an additional successive one year renewal periods or multiple renewal periods of less than one year provided that the multiple renewal periods do not exceed months in total. Automatic renewal of this Contract is prohibited.
One Time Purchase: The term of this Contract shall run from the issuance of the Award Document until all of the goods contracted for have been delivered, but in no event will this Contract extend for more than one fiscal year.
Other: See attached.

4. NOTICE TO PROCEED: Vendor shall begin performance of this Contract immediately upon receiving notice to proceed unless otherwise instructed by the Agency. Unless otherwise specified, the fully executed Award Document will be considered notice to proceed. 5. QUANTITIES: The quantities required under this Contract shall be determined in accordance with the category that has been identified as applicable to this Contract below. Open End Contract: Quantities listed in this Solicitation are approximations only, based on estimates supplied by the Agency. It is understood and agreed that the Contract shall cover the quantities actually ordered for delivery during the term of the Contract, whether more or less than the quantities shown. Service: The scope of the service to be provided will be more clearly defined in the specifications included herewith. Combined Service and Goods: The scope of the service and deliverable goods to be provided will be more clearly defined in the specifications included herewith. One Time Purchase: This Contract is for the purchase of a set quantity of goods that are identified in the specifications included herewith. Once those items have been delivered, no additional goods may be procured under this Contract without an appropriate change order approved by the Vendor, Agency, Purchasing Division, and Attorney General's office. 6. EMERGENCY PURCHASES: The Purchasing Division Director may authorize the Agency to purchase goods or services in the open market that Vendor would otherwise provide under this Contract if those goods or services are for immediate or expedited delivery in an emergency. Emergencies shall include, but are not limited to, delays in transportation or an unanticipated increase in the volume of work. An emergency purchase in the open market, approved by the Purchasing Division Director, shall not constitute of breach of this Contract and shall not entitle the Vendor to any form of compensation or damages. This provision does not excuse the State from fulfilling its obligations under a One Time Purchase contract. 7. REQUIRED DOCUMENTS: All of the items checked below must be provided to the Purchasing Division by the Vendor as specified below. ☐ BID BOND (Construction Only): Pursuant to the requirements contained in W. Va. Code § 5-22-1(c), All Vendors submitting a bid on a construction project shall furnish a valid bid bond in the amount of five percent (5%) of the total amount of the bid protecting the State of West Virginia. The bid bond must be submitted with the bid. **PERFORMANCE BOND:** The apparent successful Vendor shall provide a performance bond in the amount of _____. The performance bond must be received by the Purchasing Division prior to Contract award. On construction contracts, the performance bond

must be 100% of the Contract value.

LABOR/MATERIAL PAYMENT BOND: The apparent successful Vendor shall provide a labor/material payment bond in the amount of 100% of the Contract value. The labor/material payment bond must be delivered to the Purchasing Division prior to Contract award. In lieu of the Bid Bond, Performance Bond, and Labor/Material Payment Bond, the Vendor may provide certified checks, cashier's checks, or irrevocable letters of credit. Any certified check, cashier's check, or irrevocable letter of credit provided in lieu of a bond must be of the same amount and delivered on the same schedule as the bond it replaces. A letter of credit submitted in lieu of a performance and labor/material payment bond will only be allowed for projects under \$100,000. Personal or business checks are not acceptable.
maintenance bond covering the roofing system. The maintenance bond must be issued and delivered to the Purchasing Division prior to Contract award.
☐ INSURANCE: The apparent successful Vendor shall furnish proof of the following insurance prior to Contract award and shall list the state as a certificate holder:
Commercial General Liability Insurance: In the amount of or more.
☐ Builders Risk Insurance: In an amount equal to 100% of the amount of the Contract.

The apparent successful Vendor shall also furnish proof of any additional insurance requirements contained in the specifications prior to Contract award regardless of whether or not that insurance requirement is listed above.

LICENSE(S) / CERTIFICATIONS / PERMITS: In addition to anything required under the Section entitled Licensing, of the General Terms and Conditions, the apparent successful Vendor shall furnish proof of the following licenses, certifications, and/or permits prior to Contract award, in a form acceptable to the Purchasing Division.
The apparent successful Vendor shall also furnish proof of any additional licenses or certifications contained in the specifications prior to Contract award regardless of whether or not that requirement is listed above.
8. WORKERS' COMPENSATION INSURANCE: The apparent successful Vendor shall comply with laws relating to workers compensation, shall maintain workers' compensation insurance when required, and shall furnish proof of workers' compensation insurance upon request.
9. LITIGATION BOND: The Director reserves the right to require any Vendor that files a protest of an award to submit a litigation bond in the amount equal to one percent of the lowest bid submitted or \$5,000, whichever is greater. The entire amount of the bond shall be forfeited if the hearing officer determines that the protest was filed for frivolous or improper purpose, including but not limited to, the purpose of harassing, causing unnecessary delay, or needless expense for the Agency. All litigation bonds shall be made payable to the Purchasing Division. In lieu of a bond, the protester may submit a cashier's check or certified check payable to the Purchasing Division. Cashier's or certified checks will be deposited with and held by the State Treasurer's office. If it is determined that the protest has not been filed for frivolous or improper purpose, the bond or deposit shall be returned in its entirety. 10. LIQUIDATED DAMAGES: Vendor shall pay liquidated damages in the amount of
This clause shall in no way be considered exclusive and shall not limit the State or Agency's right to pursue any other available remedy.

- 11. ACCEPTANCE: Vendor's signature on its bid, or on the certification and signature page, constitutes an offer to the State that cannot be unilaterally withdrawn, signifies that the product or service proposed by vendor meets the mandatory requirements contained in the Solicitation for that product or service, unless otherwise indicated, and signifies acceptance of the terms and conditions contained in the Solicitation unless otherwise indicated.
- 12. PRICING: The pricing set forth herein is firm for the life of the Contract, unless specified elsewhere within this Solicitation/Contract by the State. A Vendor's inclusion of price adjustment provisions in its bid, without an express authorization from the State in the Solicitation to do so, may result in bid disqualification.
- 13. PAYMENT: Payment in advance is prohibited under this Contract. Payment may only be made after the delivery and acceptance of goods or services. The Vendor shall submit invoices, in arrears.
- 14. PURCHASING CARD ACCEPTANCE: The State of West Virginia currently utilizes a Purchasing Card program, administered under contract by a banking institution, to process payment for goods and services. The Vendor must accept the State of West Virginia's Purchasing Card for payment of all orders under this Contract unless the box below is checked.
- ☐ Vendor is not required to accept the State of West Virginia's Purchasing Card as payment for all goods and services.
- 15. TAXES: The Vendor shall pay any applicable sales, use, personal property or any other taxes arising out of this Contract and the transactions contemplated thereby. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 16. ADDITIONAL FEES: Vendor is not permitted to charge additional fees or assess additional charges that were not either expressly provided for in the solicitation published by the State of West Virginia or included in the unit price or lump sum bid amount that Vendor is required by the solicitation to provide. Including such fees or charges as notes to the solicitation may result in rejection of vendor's bid. Requesting such fees or charges be paid after the contract has been awarded may result in cancellation of the contract.
- 17. FUNDING: This Contract shall continue for the term stated herein, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise made available, this Contract becomes void and of no effect beginning on July 1 of the fiscal year for which funding has not been appropriated or otherwise made available.
- 18. CANCELLATION: The Purchasing Division Director reserves the right to cancel this Contract immediately upon written notice to the vendor if the materials or workmanship supplied do not conform to the specifications contained in the Contract. The Purchasing Division Director may also cancel any purchase or Contract upon 30 days written notice to the Vendor in accordance with West Virginia Code of State Rules § 148-1-5.2.b.

- 19. TIME: Time is of the essence with regard to all matters of time and performance in this Contract.
- 20. APPLICABLE LAW: This Contract is governed by and interpreted under West Virginia law without giving effect to its choice of law principles. Any information provided in specification manuals, or any other source, verbal or written, which contradicts or violates the West Virginia Constitution, West Virginia Code or West Virginia Code of State Rules is void and of no effect.
- 21. COMPLIANCE: Vendor shall comply with all applicable federal, state, and local laws, regulations and ordinances. By submitting a bid, Vendor acknowledges that it has reviewed, understands, and will comply with all applicable laws, regulations, and ordinances.
- 22. ARBITRATION: Any references made to arbitration contained in this Contract, Vendor's bid, or in any American Institute of Architects documents pertaining to this Contract are hereby deleted, void, and of no effect.
- 23. MODIFICATIONS: This writing is the parties' final expression of intent. Notwithstanding anything contained in this Contract to the contrary no modification of this Contract shall be binding without mutual written consent of the Agency, and the Vendor, with approval of the Purchasing Division and the Attorney General's office (Attorney General approval is as to form only). Any change to existing contracts that adds work or changes contract cost, and were not included in the original contract, must be approved by the Purchasing Division and the Attorney General's Office (as to form) prior to the implementation of the change or commencement of work affected by the change.
- 24. WAIVER: The failure of either party to insist upon a strict performance of any of the terms or provision of this Contract, or to exercise any option, right, or remedy herein contained, shall not be construed as a waiver or a relinquishment for the future of such term, provision, option, right, or remedy, but the same shall continue in full force and effect. Any waiver must be expressly stated in writing and signed by the waiving party.
- 25. SUBSEQUENT FORMS: The terms and conditions contained in this Contract shall supersede any and all subsequent terms and conditions which may appear on any form documents submitted by Vendor to the Agency or Purchasing Division such as price lists, order forms, invoices, sales agreements, or maintenance agreements, and includes internet websites or other electronic documents. Acceptance or use of Vendor's forms does not constitute acceptance of the terms and conditions contained thereon.
- 26. ASSIGNMENT: Neither this Contract nor any monies due, or to become due hereunder, may be assigned by the Vendor without the express written consent of the Agency, the Purchasing Division, the Attorney General's office (as to form only), and any other government agency or office that may be required to approve such assignments. Notwithstanding the foregoing, Purchasing Division approval may or may not be required on certain agency delegated or exempt purchases.

- 27. WARRANTY: The Vendor expressly warrants that the goods and/or services covered by this Contract will: (a) conform to the specifications, drawings, samples, or other description furnished or specified by the Agency; (b) be merchantable and fit for the purpose intended; and (c) be free from defect in material and workmanship.
- 28. STATE EMPLOYEES: State employees are not permitted to utilize this Contract for personal use and the Vendor is prohibited from permitting or facilitating the same.
- 29. BANKRUPTCY: In the event the Vendor files for bankruptcy protection, the State of West Virginia may deem this Contract null and void, and terminate this Contract without notice.
- 30. PRIVACY, SECURITY, AND CONFIDENTIALITY: The Vendor agrees that it will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the Agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the Agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/default.html.
- 31. YOUR SUBMISSION IS A PUBLIC DOCUMENT: Vendor's entire response to the Solicitation and the resulting Contract are public documents. As public documents, they will be disclosed to the public following the bid/proposal opening or award of the contract, as required by the competitive bidding laws of West Virginia Code §§ 5A-3-1 et seq., 5-22-1 et seq., and 5G-1-1 et seq. and the Freedom of Information Act West Virginia Code §§ 29B-1-1 et seq.

DO NOT SUBMIT MATERIAL YOU CONSIDER TO BE CONFIDENTIAL, A TRADE SECRET, OR OTHERWISE NOT SUBJECT TO PUBLIC DISCLOSURE.

Submission of any bid, proposal, or other document to the Purchasing Division constitutes your explicit consent to the subsequent public disclosure of the bid, proposal, or document. The Purchasing Division will disclose any document labeled "confidential," "proprietary," "trade secret," "private," or labeled with any other claim against public disclosure of the documents, to include any "trade secrets" as defined by West Virginia Code § 47-22-1 et seq. All submissions are subject to public disclosure without notice.

32. LICENSING: In accordance with West Virginia Code of State Rules § 148-1-6.1.e, Vendor must be licensed and in good standing in-accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agency or political subdivision. Upon request, the Vendor must provide all necessary releases to obtain information to enable the Purchasing Division Director or the Agency to verify that the Vendor is licensed and in good standing with the above entities.

- 33. ANTITRUST: In submitting a bid to, signing a contract with, or accepting a Award Document from any agency of the State of West Virginia, the Vendor agrees to convey, sell, assign, or transfer to the State of West Virginia all rights, title, and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to Vendor.
- 34. VENDOR CERTIFICATIONS: By signing its bid or entering into this Contract, Vendor certifies (1) that its bid or offer was made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, person or entity submitting a bid or offer for the same material, supplies, equipment or services; (2) that its bid or offer is in all respects fair and without collusion or fraud; (3) that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; and (4) that it has reviewed this Solicitation in its entirety; understands the requirements, terms and conditions, and other information contained herein.

Vendor's signature on its bid or offer also affirms that neither it nor its representatives have any interest, nor shall acquire any interest, direct or indirect, which would compromise the performance of its services hereunder. Any such interests shall be promptly presented in detail to the Agency. The individual signing this bid or offer on behalf of Vendor certifies that he or she is authorized by the Vendor to execute this bid or offer or any documents related thereto on Vendor's behalf; that he or she is authorized to bind the Vendor in a contractual relationship; and that, to the best of his or her knowledge, the Vendor has properly registered with any State agency that may require registration.

35. VENDOR RELATIONSHIP: The relationship of the Vendor to the State shall be that of an independent contractor and no principal-agent relationship or employer-employee relationship is contemplated or created by this Contract. The Vendor as an independent contractor is solely liable for the acts and omissions of its employees and agents. Vendor shall be responsible for selecting, supervising, and compensating any and all individuals employed pursuant to the terms of this Solicitation and resulting contract. Neither the Vendor, nor any employees or subcontractors of the Vendor, shall be deemed to be employees of the State for any purpose whatsoever. Vendor shall be exclusively responsible for payment of employees and contractors for all wages and salaries, taxes, withholding payments, penalties, fees, fringe benefits, professional liability insurance premiums, contributions to insurance and pension, or other deferred compensation plans, including but not limited to, Workers' Compensation and Social Security obligations, licensing fees, etc. and the filing of all necessary documents, forms, and returns pertinent to all of the foregoing.

Vendor shall hold harmless the State, and shall provide the State and Agency with a defense against any and all claims including, but not limited to, the foregoing payments, withholdings, contributions, taxes, Social Security taxes, and employer income tax returns.

- 36. INDEMNIFICATION: The Vendor agrees to indemnify, defend, and hold harmless the State and the Agency, their officers, and employees from and against: (1) Any claims or losses for services rendered by any subcontractor, person, or firm performing or supplying services, materials, or supplies in connection with the performance of the Contract; (2) Any claims or losses resulting to any person or entity injured or damaged by the Vendor, its officers, employees, or subcontractors by the publication, translation, reproduction, delivery, performance, use, or disposition of any data used under the Contract in a manner not authorized by the Contract, or by Federal or State statutes or regulations; and (3) Any failure of the Vendor, its officers, employees, or subcontractors to observe State and Federal laws including, but not limited to, labor and wage and hour laws.
- 37. PURCHASING AFFIDAVIT: In accordance with West Virginia Code § 5A-3-10a, all Vendors are required to sign, notarize, and submit the Purchasing Affidavit stating that neither the Vendor nor a related party owe a debt to the State in excess of \$1,000. The affidavit must be submitted prior to award, but should be submitted with the Vendor's bid. A copy of the Purchasing Affidavit is included herewith.
- 38. ADDITIONAL AGENCY AND LOCAL GOVERNMENT USE: This Contract may be utilized by other agencies, spending units, and political subdivisions of the State of West Virginia; county, municipal, and other local government bodies; and school districts ("Other Government Entities"). Any extension of this Contract to the aforementioned Other Government Entities must be on the same prices, terms, and conditions as those offered and agreed to in this Contract, provided that such extension is in compliance with the applicable laws, rules, and ordinances of the Other Government Entity. If the Vendor does not wish to extend the prices, terms, and conditions of its bid and subsequent contract to the Other Government Entities, the Vendor must clearly indicate such refusal in its bid. A refusal to extend this Contract to the Other Government Entities shall not impact or influence the award of this Contract in any manner.
- 39. CONFLICT OF INTEREST: Vendor, its officers or members or employees, shall not presently have or acquire an interest, direct or indirect, which would conflict with or compromise the performance of its obligations hereunder. Vendor shall periodically inquire of its officers, members and employees to ensure that a conflict of interest does not arise. Any conflict of interest discovered shall be promptly presented in detail to the Agency.
- Such reports as the Agency and/or the Purchasing Division may request. Requested reports may include, but are not limited to, quantities purchased, agencies utilizing the contract, total contract expenditures by agency, etc.

40. REPORTS: Vendor shall provide the Agency and/or the Purchasing Division with the

Quarterly reports detailing the total quantity of purchases in units and dollars, along with a listing of purchases by agency. Quarterly reports should be delivered to the Purchasing Division via email at <u>purchasing.requisitions@wv.gov</u>.

41. BACKGROUND CHECK: In accordance with W. Va. Code § 15-2D-3, the Director of the Division of Protective Services shall require any service provider whose employees are regularly employed on the grounds or in the buildings of the Capitol complex or who have access to sensitive or critical information to submit to a fingerprint-based state and federal background inquiry through the state repository. The service provider is responsible for any costs associated with the fingerprint-based state and federal background inquiry.

After the contract for such services has been approved, but before any such employees are permitted to be on the grounds or in the buildings of the Capitol complex or have access to sensitive or critical information, the service provider shall submit a list of all persons who will be physically present and working at the Capitol complex to the Director of the Division of Protective Services for purposes of verifying compliance with this provision. The State reserves the right to prohibit a service provider's employees from accessing sensitive or critical information or to be present at the Capitol complex based upon results addressed from a criminal background check.

Service providers should contact the West Virginia Division of Protective Services by phone at (304) 558-9911 for more information.

- 42. PREFERENCE FOR USE OF DOMESTIC STEEL PRODUCTS: Except when authorized by the Director of the Purchasing Division pursuant to W. Va. Code § 5A-3-56, no contractor may use or supply steel products for a State Contract Project other than those steel products made in the United States. A contractor who uses steel products in violation of this section may be subject to civil penalties pursuant to W. Va. Code § 5A-3-56. As used in this section:
- a. "State Contract Project" means any erection or construction of, or any addition to, alteration of or other improvement to any building or structure, including, but not limited to, roads or highways, or the installation of any heating or cooling or ventilating plants or other equipment, or the supply of and materials for such projects, pursuant to a contract with the State of West Virginia for which bids were solicited on or after June 6, 2001.
- b. "Steel Products" means products rolled, formed, shaped, drawn, extruded, forged, cast, fabricated or otherwise similarly processed, or processed by a combination of two or more or such operations, from steel made by the open heath, basic oxygen, electric furnace, Bessemer or other steel making process. The Purchasing Division Director may, in writing, authorize the use of foreign steel products if:
- c. The cost for each contract item used does not exceed one tenth of one percent (.1%) of the total contract cost or two thousand five hundred dollars (\$2,500.00), whichever is greater. For the purposes of this section, the cost is the value of the steel product as delivered to the project; or d. The Director of the Purchasing Division determines that specified steel materials are not produced in the United States in sufficient quantity or otherwise are not reasonably available to meet contract requirements.

43. PREFERENCE FOR USE OF DOMESTIC ALUMINUM, GLASS, AND STEEL: In Accordance with W. Va. Code § 5-19-1 et seq., and W. Va. CSR § 148-10-1 et seq., for every contract or subcontract, subject to the limitations contained herein, for the construction, reconstruction, alteration, repair, improvement or maintenance of public works or for the purchase of any item of machinery or equipment to be used at sites of public works, only domestic aluminum, glass or steel products shall be supplied unless the spending officer determines, in writing, after the receipt of offers or bids, (1) that the cost of domestic aluminum, glass or steel products is unreasonable or inconsistent with the public interest of the State of West Virginia, (2) that domestic aluminum, glass or steel products are not produced in sufficient quantities to meet the contract requirements, or (3) the available domestic aluminum, glass, or steel do not meet the contract specifications. This provision only applies to public works contracts awarded in an amount more than fifty thousand dollars (\$50,000) or public works contracts that require more than ten thousand pounds of steel products.

The cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than twenty percent (20%) of the bid or offered price for foreign made aluminum, glass, or steel products. If the domestic aluminum, glass or steel products to be supplied or produced in a "substantial labor surplus area", as defined by the United States Department of Labor, the cost of domestic aluminum, glass, or steel products may be unreasonable if the cost is more than thirty percent (30%) of the bid or offered price for foreign made aluminum, glass, or steel products. This preference shall be applied to an item of machinery or equipment, as indicated above, when the item is a single unit of equipment or machinery manufactured primarily of aluminum, glass or steel, is part of a public works contract and has the sole purpose or of being a permanent part of a single public works project. This provision does not apply to equipment or machinery purchased by a spending unit for use by that spending unit and not as part of a single public works project.

All bids and offers including domestic aluminum, glass or steel products that exceed bid or offer prices including foreign aluminum, glass or steel products after application of the preferences provided in this provision may be reduced to a price equal to or lower than the lowest bid or offer price for foreign aluminum, glass or steel products plus the applicable preference. If the reduced bid or offer prices are made in writing and supersede the prior bid or offer prices, all bids or offers, including the reduced bid or offer prices, will be reevaluated in accordance with this rule.

SPECIFICATIONS

- 1. PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids on behalf of all state agencies to establish an open-end contract for canned foods, staple groceries, dietetic foods, frozen foods, coffee and miscellaneous items to all State Agencies.
- 2. **DEFINITIONS:** The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions.
 - 2.1 "Contract Item" or "Contract Items" means the list of items identified in Section 3.1 below and on the Pricing Pages.
 - 2.2 "Pricing Pages" means the schedule of prices, estimated order quantity, and totals contained in wvOASIS or attached hereto as Exhibit A, and used to evaluate the Solicitation responses.
 - 2.3 "Solicitation" means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.

3. GENERAL REQUIREMENTS:

3.1 Contract Items and Mandatory Requirements: Vendor shall provide Agency with the Contract Items listed below on an openend and continuing basis. Contract Items must meet or exceed the mandatory requirements as shown below.

3.1.1 Local Government Bodies:

- 3.1.1.1 Unless the vendor indicates in the bid his refusal to extend the prices, terms, and conditions of the bid to county, school, municipal and other local government bodies, the bid shall extend to all political subdivisions of the State of West Virginia. If the vendor must clearly indicate such refusal in his bid. Such refusal shall not prejudice the award of this contract in any manner.
- 3.1.2 Brands: Vendors should indicate the brand names being bid on all items. Failure to indicate a brand name may be reason to disqualify the bid on that item.

Packer label product is acceptable but the correct brand or label must be stated.

- USDA Grade 1 unless noted in the item specifications. All items bid should include the brand name the vendor intends to provide. Any item found not to be an acceptable quality shall result in a complete refund on all of such product shall promptly remove and replace any product supplied tough this contract that any agency has received and determined that the product is unsatisfactory and/or is not suitable for their facility. This removal and replacement shall be done in a timely manner. Failure to do so may result in cancellation of contract.
- 3.1.4 Alternate Items: Vendor may provide an alternate item for any item listed on the pricing pages. If providing an alternate, please provide the item number for which the alternative if offered, adding an "a" after the number. If the alternate item is accepted, it will be incorporated into the list with the number and letter designation added. You may add additional pages as needed to accommodate alternate items you wish to bid. All categories of information shall be completed for these alternate items.
- 3.1.5 Stock: Successful vendors must provide all items awarded Frequent out-of-stocks will not be tolerated. Such frequent "out-of-stock items" may result in the item canceled from the contract and awarded to another vendor. On the occasion when a product is not available, the vendor shall notify the ordering agency prior to delivery so that an adjustment may be made or an alternate product considered. Bidders should not enter a price quotation for any item they do not plan to stock.
- 3.1.6 Dietetic: Such items are identified on the bid sheet with the letter "D" in the column labeled "Diet" or the description contains the appropriate information.

 Vendors who bid these items shall guarantee they are bidding items that contain no sugar or salt as indicated on the line item.

- 3.1.7 Coffee: The product shall be packed in substantial commercial containers. The package size will be specified by the agency when requesting delivery. The net weight shall be shown. Ground coffee shall not include chicory as a substitution or extender.
- 3.1.8 Miscellaneous: No pork additives are acceptable in products that are not pork-related. For example, agencies will know that ham and bacon are obviously pork. No pork additives in gelatin or other foodstuffs shall be acceptable. MSG should be avoided. Bidders shall note any product they are bidding that contains MSG. If at all possible, products in glass containers should not be bid. There may be certain products that are available only in glass; but, if the product is available in metal cans or plastic, bidders should bid those items. Bidders must indicate if the container for the product they are bidding is glass.
- 3.1.9 Samples: Bidders may be required to provide samples (small quantity) of any product that is bid to allow "taste tests" to be conducted. These taste test panels will be composed of 10-12 people. If the panel decides a product is unacceptable, no award will be made for that product bid.
- 3.1.10 Damaged: Damaged and/or dents on seams or rims of cans and mis-shaped or mashed boxes shall not be accepted. The product must be able to be opened without difficulty. No products will be accepted if the manufacture's seal has been tampered with or broken. Any shipments containing such defective merchandise must be replaced and credit issued.

3.1.11 Minimum Shelf Life: Items shall have a minimum shelf life as follows for each type of product:

Frozen Food:

3 Months

Canned Food:

6 Months

Staples & Box Mixes:

3 Months

Expiration Dates:

Vendors shall make every effort to ensure that products supplied have expiration/shelf life or "best if used by" plainly marked.

3.1.12 Sizes: Vendor shall note both the size and the quantity as prices and as required for order (such as 24 cans/16 oz. each) of each product.

4 CONTRACT AWARD:

4.1 Contract Award: The Contract is intended to provide Agencies with a purchase price on all Contract Items. The Contract shall be awarded to the Vendors that provide the Contract Items meeting the required specifications per line item at the lowest bid scenario as shown on the Pricing Pages. Each successful vendor (it is anticipated that a multiple award will be issued and agencies shall order from the lowest-cost provider for the item that meets their requirement). Successful vendors shall be provided an excel spreadsheet (hard copy) of the items awarded on that contract.

The item number shown on the item in the CRFQ shall remain the same through the award process. This means that an award may be for item 1, 15, 20, etc. Keeping the same item number throughout the CRFQ and contract cycle should also reduce confusion.

All listed quantities are estimates. Actual quantities may be more or less than the stated quantities.

4.2 Pricing Pages: Vendor should complete the Pricing Pages by providing a "Brand Bid", "Size Bid" and "Number of Individual Units". Vendor should also provide a number for the "Unit Price per Individual Item". Next, the Vendor should multiply the "Unit Price per Individual Item" by the Estimated Quantity to arrive at the total cost.

Vendor should complete the Pricing Pages in their entirety as failure to do so may result in Vendor's bids being disqualified.

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

4.2.1 Beverage Taxes: Vendors must include all applicable beverage taxes in the prices quoted. Vendors not allowed adding additional lines to pricing page for this.

Vendor should electronically enter the information into the Pricing Pages through wvOASIS, if available, or as an electronic document. In most cases, the Vendor can request an electronic copy of the Pricing Pages for bid purposes by sending an email request to the following address: Tara.L.Lyle@wv.gov.

5 ORDERING AND PAYMENT:

- 5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile, e-mail, or any other written form of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- 5.2 Minimum orders: Orders for less than the minimum amounts may be purchased in accordance with standard agency purchasing procedures as the agency purchasing procedures as the agency may choose to order less than the minimum by paying the freight charges. All freight charges must be prepaid, but orders for less than the minimum shall have the freight bill attached to the invoice.

A minimum shipment shall be \$200.00 mixed.

5.3 Payment: Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia.

6 DELIVERY AND RETURN:

6.1 Delivery Time: Vendor shall deliver standard orders within 3-5 working days after orders are received. Vendor shall deliver emergency orders within 2 working day(s) after orders are received. Vendor shall ship all orders in accordance with the above schedule and shall not hold orders until a minimum delivery quantity is met.

Deliveries will not be accepted on Saturday, Sunday, Legal Holiday, or after 3:00 p.m. Vendor shall work out a delivery schedule that satisfies the requirements of each agency.

6.2 Late Delivery: The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for cancellation of the delayed order, and/or obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must first obtain approval of the Purchasing Division.

- 6.3 Delivery Payment/Risk of Loss: Standard order delivery shall be F.O.B. destination to the Agency's location. Vendor shall include the cost of standard order delivery charges in its bid pricing/discount and is not permitted to charge the Agency separately for such delivery. The Agency will pay delivery charges on all emergency orders provided that Vendor invoices those delivery costs as a separate charge with the original freight bill attached to the invoice.
- 6.4 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable, or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.

6.5 Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

7. VENDOR DEFAULT:

- 7.1 The following shall be considered a vendor default under this Contract.
 - 7.1.1. Failure to provide Contract Items in accordance with the requirements contained herein.
 - 7.1.2 Failure to comply with other specifications and requirements contained herein.
 - 7.1.3 Failure to comply with any laws, rules, and ordinances applicable to the Contract Services provided under this Contract.
 - 7.1.4 Failure to remedy deficient performance upon request.
- 7.2 The following remedies shall be available to Agency upon default.
 - 7.2.2 Immediate cancellation of the Contract.
 - 7.2.3 Immediate cancellation of one or more release orders issued under this Contract.

8 MISCELLANEOUS:

- **8.1** No Substitutions: Vendor shall supply only Contract Items submitted in response to the Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract.
- 8.2 Vendor Supply: Vendor must carry sufficient inventory of the Contract Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Contract Items contained in its bid response.

- 8.3 Reports: Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
- 8.4 Contract Manager: During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager: _	 			
Telephone Number:				•
Fax Number:			-	
Email Address:	 			

FOOD16B - Pricing Pages - US Foods

				_	•					
lte	m # 7ypc	Product	Brand B	id Size I	Unit Bid Measur Vendor's	e for Individ	ual Individus		USF Item	# Winning Bid
	1 Baby Food	Baby Food, Apple Juice, (No Sugar), 4	oz THIRSTER	5.5	OZ	48	0.0807	21.31	4469870	
2	2 Baby Food	Baby Food, Apple Sauce, (No Sugar),	4 oz GERB2NDFD	os 4	OZ	16	0.7275	11.64	1939534	
3	Baby Food	Baby Food, Bananas, 4 oz	GERB2NDFD		OZ	16	0.7700	12.32	4388642	*
4	Baby Food	Baby Food, Beef, (NO Veg), 3 ½ oz	GERB2NDFD		OZ OZ	12	1.1075	13.29		
5	Baby Food	Baby Food, Carrots, 4 ½ oz	GERB2NDFD	_	OZ	16	0.7275	11.64	9678276	+
6	Baby Food	Baby Food, Chicken, (NO Veg), 3 ½ oz	GERB2NDFD		OZ.	12	1.1075	13.29	9015900	*
7	Baby Food	Baby Food, Cranberry Juice (No Sugar)	6 oz THIRSTER	5.5	, OZ	48	0.0819	21.61	2470003	*
8	Baby Food	Baby Food, Orange Juice, (No Sugar), 6	oz THIRSTER	5.5	OZ	48	0.0766	20.21	285379	
9	Baby Food	Baby Food, Peaches, 31/2 oz	GERB2NDFDS		OZ	16	0.7700	12.32	7008979	+
10	Baby Food	Baby Food, Peas, 3 ½ oz	GERB2NDFDS		OZ OZ	16	0.7275	11.64	5287716	-
11	Baby Food	Baby Food, Pineapple Julce, (No Sugar), oz	6 THIRSTER	5.5	OZ.	48	0.0827	21.82	4470019	*
12	Baby Food	Baby Food, Sweet Potatoes, 3 ½ oz	GERB2NDFDS	4	OZ.	16	0.7275	11.64	2669640	*
13	Baby Food	Baby Food, Tomato Juice, (No Sugar), 6 o	oz THIRSTER	5.5	0z	48	0.0737	19.45	3470143	
14	Baby Food	Baby Food, Vegetable Cocktail, 6 oz	V8	5.5	oz	48	0.1009	26.63	1020551	*
15	Baking	Baking Powder, 4/10 lb pkg	GILSTER ML	5	pkg	6	4.7200	28.32	6007652	*
16	Baking	Baking Soda 12/2#	MONARCH	2.25	lb.	1	2.6133	5.88	761965	•
17	Baking	Cake Frosting, Buttercream Icing 5#	BETTRCREME	2	lb.	12	2.3813	57.15	1027432	*
18	Baking	Cake Frosting, White, Sugar Restricted, Lc Sodium, Low Fat, Low Cholesterol, 12/8 oz	SWEET N LO	7	, oz	12	0.4290	36.04	5194337	
19	Baking	Cake Mix, Angel Food, 6/5 lb container	HILLTOP HR	11.25	lb.	1	4.6800	52.65	574368	
20	Baking	Cake Mix, Assorted Flavors, Low Sodium, Low Fat, Sugar Restricted, approx 12/9 oz	SWEET N LO	8	oz	12	0.3754	36.04	2141257	
21	Baking	Cake Mbx, Brownie, 6/5 lb container	GILSTER ML	5	lb.	6	1.0160	30.48	9043977	
	Baking	Cake Mix, Cherry Delight, 6/5 lb container								
	Baking	Cake Mix, Chocolate, 6/5 lb container	GILSTER ML	5	lb.	6	1.1200	33.60	9007659	
	Baking	Cake Mix, Devil's Food, 6/5 lb container	GILSTER ML	5	ib.	6	1.2100	36.30	2007664	
	Baking	Cake Mix, Spice, 6/5 lb container	HOSPITALTY	5	lb.	6	1.0720	32.16	4043964	
_	Baking	Cake Mix, White, 6/5 lb container	CONTINENTL	5	lb.	6	0.8593	25.78	8316499	
27	Baking	Cake Mix, Yellow, 6/5 lb container	CONTINENTL	5	lb.	6	0.8593	25.78	9316498	
28	Baking	Chocolate Chips, Semi-Sweet Imitation, 10 II container	tarrier	10	lb.	1	2.4080	24.08	1437912	
29 E	Baking	Chocolate, Syrup, 6/10#	MONARCH	10	lb.	6	0.9424	46.18	1327649	
30 B	aking	Cocoa, Unsweetened, Powdered 10-12% Butter Fat, 25#	MONARCH	5	lb.	6	4.1693	125.08 2	370328	
31 B	aking	Cocoa, Unsweetened, Powdered 10-12% Butter Fat, case of 2# cans	MONARCH	5	lb.	1	4.1700	20.85 2	370328	
32 B	aking	Coconut Flaked, 12/2# bags	PACKER	10	lb.	1	2.6600	26.60 1	456201	
3 Be	aking	Cornmeal, Yellow, 25 lb container	PACKER	25	lb.	1	0.5300	13.25 9	396169	
4 Ba	aking	Cornmeal, Yellow, Self-Rising, 25 lb container	PACKER	25	lb.	1	0.5400	13.50 2	462463	
5 Ba	king	Corn Starch, 1# Box	PACKER	1	lb.	24	0.8125	19.50 5	391107	
6 Bai	king I	Egg Beaters, 12/2#	GLNVW, FRMS	2	lb.	12	2.1300	51.12 7	18429	
7 Bal	king E	Egg, liquid, whole, 6/5# CARTON	GLNVW FRMS	5	lb.	6	1.1303	33.91 8	29507	

38	Baking_	Flavoring, Almond Extract, Imitation, approx 32 oz	MONARCH	32	oz	1	0.3000	9.60	761452	
39	Baking	Flavoring, Lemon Extract, Imitation, approx 32 oz	MCCORMICK	16	oz	1	0.5400	8.64	6536551	
40	Baking	Flavoring, Maple, Imitation, approx 32 oz		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1						
41	Baking	Flavoring, Vanilla Extract, Imitation, approx 32 oz	MONARCH	32	OZ	1	0.1313	4.20	761338	
42	Baking	Flour, All Purpose, Enriched, 25 lb	HILLTP/MON	25	lb.	1	0.3300	8.25	4341632	*
43	Baking	Flour, Self Rising, 50 lb	HUDSON CRM	25	lb.	1	0.4968	12.42	3375599	*
44	Baking	Flour, Self Rising, 25 lb bags	HUDSON CRM	25	lb.	1	0.4968	12.42	3375599	11.00
45	Baking	Flour, Whole Wheat, 50 lb	HUDSON CRM	5	lb.	8	0.3905	15.62	1965342	
46	Baking	Food Coloring, Blue, approx 32 oz cont	The state of the s							
47	Baking	Food Coloring, Green, approx 32 oz cont				24,4-1				
48	Baking	Food Coloring, Red, approx 32 oz cont			and the specif				Same of the same of	
49	Baking	Food Coloring, Yellow, approx 32 oz cont	MONARCH	32	OZ.	1		9.80	761361	2 3 5 5 5
50	Baking	Graham Cracker Crumbs, 25#/cs	NABISCO	25	lb.	1	2.1824	54.56	6018527	
51	Baking	Gravy Aid, 12/1 Qt	KTCHN BOUQ	32	qt	12	7.2704	87.26	1002211	*
52	Baking	Gravy Mix w/Pepper 6/15#	MONARCH	24	lb.	6	1.8560	16.70	2336147	* Zingaria igragio
-	Baking	Grits, White, 24 lb in 2# lb boxes	QUAKER	24	lb.	12	1.2800	23.05	5185871	
	Baking	Icing Mix, Creamy Fudge, 6/5 lb boxes	HILLTP/MON	5	lb.	6	2.1560	64.68	9330986	3.0
	Baking	Liquid Smoke, 4/1 gals	WRIGHTS	1	gal	4	11.3664	45.46	5003975	4
	Baking	Marshmallow Creme, 6/1 lb containers	MONARCH	5	lb.	6	1.4080	29.34	7327695	
	Baking	Marshmallows, Miniature, 12/1# pkg	KRAFT	1	pkg	12	1.7330	20.80	60764	
58	Baking	Marshmallows, Regular, 12/1# pkg						A-17-17		
59	Baking	Mllk, Evaporated, 12 oz can	GLNVW FRMS	1	can	24	1.3313	31.95	827451	F 13 16
60	Baking	Milk, Powdered, Non-fat, 5 lb container	MONARCH	5	lb.	6	3.7500	112.50	1382076	
61	Baking	Muffin Mix, 6/5 lb	HOSPITALTY	5	lb.	6	1.0620	31.86	8117228	
	Baking	Muffin Mix, Orange Cranberry, 6/5#, Gold Medal 11549	GOLD MEDAL	5	lb.	6	2.6960	80.88	9013434	*
63	Baking	Nuts, Almond, Sliced, 3 lb container	MONARCH	2	lb.	1	6.7500	13.50	8888646u	***
	Baking	Nuts, Pecans, Chopped, 3 lb container	MONARCH	2	lb.	1	8.1100	16.22	8884132u	*
	Baking	Nuts, Walnuts, Chopped, 3 lb container Oats, Rolled, Regular, 12/2 lb	AZAR HOSPITALTY	1.75 42	łb. Ib.	6 12	9.8400 0.8736	17.22 27.54	4264198u 5027206	*
	Baking Baking	Onions, Dehydrated, 3#	GILROY	15	lb.	1	2.5080	37.62	7489479	*
	Baking	Pancake, Mix, Buttermilk, 25 lb	MONARCH	5	lb.	6	0.8633	25.90	9266901	*
$\overline{}$	Baking	Pancake, Mix, Buttermilk, 6/5 lb	MONARCH	5	lb.	6	0.8633	25.90	9266901	2013
70 E	Beking	Peanut Butter, Homogenized, 6/5 lb	MONARCH	5	lb.	6	2.0967	62.90	4327581	
71	Baking	Pie Filling, Complete Mix, Apple, 6/10	MONARCH	10	lb.	6	1.0016	42.10	6331003	*
	Baking	Pie Filling, Complete Mix, Blackberry, 6/10	LUCKY LEAF	10	lb.	6	2.1616	94.00	1173699	*
	Baking	Pie Filling, Complete Mix, Blueberry, 6/10	MONARCH	10	lb.	. 6	1.6480	69.20	1331008	
74 E	Baking	Pie Filling, Complete Mix, Cherry, 6/10	HARVEST VL	10	lb.	6	1.5712	66.00	9328824	*
75 E	Baking	Ple Filling, Complete Mix, Peach, 6/10	MONARCH	10	lb.	6	1.5120	63.50	8330995	*
76 B	Baking	Pie Shells, 9", 20/9"	DEVONSHIRE	1	ea	20	1.2250	24.50	4569265	*
77 B	Baking	Pie Shells, Deep Dish	CHEFPIERRE	1	ea	20	1.2300	24.60	1258581	X3.45.27.
78 B	aking	Pioneer Brown Gravy Mix, 6/24oz	MONARCH	13	0Z	6	0.2029	15.83	7336142	
_		Pioneer Chicken Gravy Mix, 6/24 oz	MONARCH	14	oz	6	0.2433	20.44	1336155	*
	aking	Popcorn, Yellow, Bulk, 50 lb	PACKER	50	lb.	1	0.5204	26.02	5391636	
\neg										
-	aking	Potatoes, Augratin, approx 6/36 oz.	MONARCH	36	oz 	6	0.2130	46.00	6329866	
	aking	Potatoes, Hash Brown, Dehydrated, 6/3#	MONARCH	2.5	lb.	6	2.7133	40.70	2329068	*
+	aking	Potatoes, Scallop Potato Mix, 6/36 oz.	MONARCH	36	OZ II.	6	0.2130	46.00	7329055	
_	aking	Potatoes, Sliced, Dehydrated, 4/5#	MONARCH	5	lb.	4	2.3370	46.74	7330251	•
			PRES/MOLLY	10	lb.	6	4.7056	31.47	861286	*
			MONARCH	25	lb.	1	0.5552	13.88	4326526	*
		Salad Oil, Pure Soybean Oil, 35 lbs.	HARVEST VI	35	lb.	6	0.5949 5.6033	20.82	1327055	*
		Salad Oil, Pure Soybean Oil, 6/1 gal	HARVEST VL	25	gal lb.	1	5.6033 0.2356	33.62 5.89	9328691	
$\overline{}$			MONARCH	50	Ib.	1	0.2356	8.90	6329924 3018991	
90 B	-	Shortening, All Vegetable, (For Baking Only),	MORTON	50	lb.	1	0.1780	41.30	687038	
91 Ba	akino			~~ [-0.51					11.0

			-	$\overline{}$					- 1	and the second
9:	3 Baking	Shortening, All Vegetable, Liquid, 35 lbs. container	HARVEST VL	35	· lb.	1	0.6229	21.80	5996731	
94	4 Baking	Starch, Corn, 24/2# containers	PACKER	1	lb.	24	0.8125	19.50	5391107	
95	Baking	Sugar, Brown, 25#	DIXIE IMP	25	lb.	1	0.8304	20.76	7012834	
96	Baking	Sugar, Brown, 50#	DIXIE IMP	25	lb.	1	0.8304	20.76	7012834	
97	Baking	Sugar, Brown, 2#	MONARCH	2	ib.	12	0.9942	23.86	855387	V.
98	Baking	Sugar, Granulated, 50#	MONARCH	25	lb.	1	0.5968	14.92	4395612	
99	Baking	Sugar, Granulated, 5#	MONARCH	5	lb.	8	0.7450	29.80	6395610	范内景
100	Baking	Sugar, Packets, Indivually wrapped 2000 o	t. US FOODS	2000	case	1	12.8000	12.80	9327263	*
101	Baking	Sugar, Powdered, 12/2#	MONARCH	2	lb.	12	0.9633	23.12	1627215	
102	Baking	Sweetner, Liquid, 12/6 oz	SWEETNLO	8	oz	12	0.2475	23.76	8008005	
103	Baking	Sweetener, Sugar Free, Acesulfame K, 5#	EQUAL	1.	lb.	6	6.3717	38.23	6041453	*
104	Baking	Sweetener, Sugar Free, Sucralose, 5#	SPLENDA	9.7	łb.	8	14.3546	69.62	7917180	*
105	Saking	Tart Shells	KEEBLER	72	ea	1	0.3331	23.98	3004009	
106	Baking	Thick-n-Easy, 12/8 oz	THICK & ES	8	OZ	12	0.5225	50.16	4062782	
107	Baking	Topping, instant, Mix with milk, 12/11 oz. containers, 1 pak makes gallon	MONARCH	16	0Z	12	0.1677	32.20	8371742	*
108	Eaking	Vinegar, Pure Apple Cider, 6 gal	MONARCH	1	gal	4	4.3175	17.27	4328332	
109	Baking	Vinegar, White, (50 Grain), 6/1 gal	MONARCH	1	gal	4	2.9350	11.74	1328335	
110	Baking	Yeast, Dry, Active, approx 2 lb cont	RED STAR	2	lb.	12	2.7000	64.80	7414980	
111	Eaking	Muffin Mix W/ Real Blueerries 6/5#	GOLD MEDAL	4.875	lb.	6	2.5720	75.23	8109001	
112	Baking	Biscuit Mix Buttermilk 6/5#	HOSPITALTY	5	lb.	6	0.7500	22.50	3040110	
113	Baking	Combread Mix Complete 6/5#	PIONEER	5	lb.	6	1.0313	30.94	5026521	
114	Baking	Bread Stuffing Traditional 6/3.5#	MONARCH	55	lb.	6	0.1715	56.58	5610605	*
115	Baking	Bbread Crumbs Italian 6/5#	PACKER	5 .	lb.	6	1.0380	31.14	2118032	
116	Baking	Cheese Cake Mix 6/4#	GILSTER ML	4	lb.	6	2.2392	53.74	2395457	
117	Baking	Whole Grain Flour 50#	HUDSON CRM	5	lb.	8	0.3905	15.62	1965342	
118	Baking	Mousse Mix Reduced Calorie 6/5 OZ				1001-0				
$\overline{}$	Baking	Turkey Gravy Mix 1 PK Yeild 1 gal	MONARCH	11.3	gal	6	2.5100	15.06	2336162	*
$\overline{}$	Baking	Cheese Cake Mix Sugar Free	CHEF COMPN	7	ΟZ	6	0.6586	27.66	6057996	
-	Baking	Whip Topping Mlx Sugar Free 6/5.1 oz	GLNVW FRMS	16	οz	12	0.2440	46.85	180703	# 2 ab sc = 200.00
-	Baking Dalvins	Cookie Dough Sugar Free 240/1 oz	SWT DISCVY	1.1	OZ	288	0.3116	98.71	8482994	
$\overline{}$	Baking	Karo Light Corn Syrup 4/1 gallon	MONARCH	1	gal	4	9.6800	38.72	1373935	
$\overline{}$	Baking	Condensed Milk Sweetened 24/14 oz	GLNVW FRMS	14	OZ.	24	0.1269	42.65	6922793	*
	Baking Beverage	Sugar, Granulated 25# Bouillon Cubes, Beef, approx 100 per cont, no MSG	MONARCH HERB-OX	300	lb. ea	1	0.5968	14.92 33.86	4395612 6300743	
\neg	everage	Bouillon Cubes, Chicken, approx 100 per cont, no MSG	HERB-OX	300	ea	1	0.1129	33.86	4299178	
28 B	everage	Cocoa Mix, 6/1 lb containers,	BAKERS	2	lb.	12	2.2475	53.94	9251547	
29 B	ev erage	Cocoa Mix, Individual packages, makes 8 oz drink	SWISS MISS	0.73	OZ.	300	0.0202	48.44	2688547	*
30 B	everage	Cocoa Mix, Individual packages, Sugar Free 6/24ct	SWISS MISS	144	ea	1	0.2674	38.51	2018752	
31 Be		Coffee, Decaffeinated, 7.5 oz pouch, 48 per case - yields approx 384 liquid ounces.	DOUWEEGBRT	12	0Z	24	0.4523	130.25	5245246	*
32 Be	everage	Coffee, Decaffeinated, Individual Servings,	SANKA	100	0Z	5	0.1105	55.24	6002638	

133	3 Beverage	Coffee, Ground Roast, Decaffeinated, Hotel/Restaurant Blend, 12/2 lb bags.	RITUALS	0.75	lb.	32	7.1142	170.74	1333228	
134	4 Beverage	Coffee, Ground Roast, premeasured paks fo 10-12 cup automatic brewer, 128/2 oz	RITUALS	2	0Z	112	0.3970	88.92	743302	*
135	Beverage	Coffee, Ground Roast, Hotel/Restaurant Blend, 12/2 lb bags.	RITUALS	10	lb.	24	3.8213	57.32	9350976	
136	Beverage	Coffee, Regular, 7.5 oz pouch, 48 per case - yields approx 384 liquid ounces.	BEECH-NUT	33	0Z	6	4.9723	61.52	3691029	
137	Beverage	Coffee, Regular, Individual Servings, 1000 per case	MAXWELL HS	100	ea	5	0.1184	59.20	9009697	
138	Beverage	Creamer, Flavored, French Vanilla 180/.38 oz.	INTL DELGT	0.4395	0Z	288	0.1565	19.81	6157226	
139	Beverage	Creamer, Non-Dairy, Individual Serving, 1000 cs	COFFEEMATE	50	case	20	45.3600	45.36	8005571	
140	Beverage	Creamer, Non-Dairy, Powdered, 5 lb container	RITUALS	0.75	ib.	24	1.8567	33.42	2908887	*
141	Beverage	Drink Mix, sugar-free, asst flavors, 24/1 oz Powdered Drink Mix, Assorted Flavors.	THIRSTER	2	0Z	12	1.8392	44.14	8371593	*
142	Beverage	Vitamin C enriched, 12 pks make 2 gallons each.	TWIST	8.6	ea	12	1.5700	18.84	1277276	
143	Beverage	Tea Bags, Decaffeinated, 5/1000 ct	RITUALS	100	case	5	21.7000	21.70	183103	
144	Beverage	Tea Bags, Decaffeinated, Iced, 1-Gal, 48/1 oz	RITUALS	1	gal	48	0.4608	22.12	185330	
145	Beverage	Tea Bags, Orange Pekoe, 46/1 oz	RITUALS	1	OZ.	96	0.1396	13.40	185298	
146	Beverage	Tea Bags, Orange Pekoe, 10/100 ct.	RITUALS	100	ea	10	0.0229	22.88	183061	
147	Beverage	Tea, instant, 48/2 oz.	RITUALS	2	oz	48	0.2260	21.70	184952	*
148	Beverage	Thicken juice, orange, 6/48 oz	THICK & ES	48	02	6	0.0773	22.26	7214893	*
149	Beverage	Thicken, water, 6/48 oz	THICK & ES	48	oz	6	0.0603	17.38	4240727	*
150	Beverage	Shake Mighty, Vanilla, no sugar, HHL, 50/6oz	MIGHTYSHKS	6	0Z	50	0.1393	41.80	4187209	*
	Beverage	Shake Mighty, Strawberry, no sugar, 50/6oz	MIGHTYSHKS	6	oz	50	0.1393	41.80	6187892	*
152	Beverage	Shake Great, Chocolate, 75/4 oz.	MIGHTYSHKS	4	OZ	75	0.0902	27.05	9151887	*
153	Beverage	Shake Great, Strawberry, 75/4 oz	MIGHTYSHKS	4	0z	75	0.0902	27.05	2151892	*
154	Beverage	Thicken, Orange NEC/cn HH	THICK & ES	48	oz	6	0.0773	22.26	6214894	
155	Beverage	Gatorade Lemon Lime 24/20 OZ	GATORADE	20	0Z	24	0.0500	23.98	1204361	*
156	Beverage	Gatorade Frosted Reptide 24/20 OZ	GATORADE	20	oz	24	0.0500	23.98	3227485	*
157	Beverage	Gatorade Fruit Punch 24/2 oz	GTRÁDE G2	20	0Z	24	0.0500	23.98	4876785	*
158	Beverage	Coffee Regular Filter Pack 40/1.5 oz	RITUALS	1.5	oz	112	0.2952	49.60	5652573	
159	Beverage	Coffee Decaff Filter Pack 40/1.5 oz	RITUALS	1.5	oz	128	0.3270	54.94	398479	
160	Beverage	Drink Mix Sport (ISOTONIC) 12/21 oz						300		
161	Beverage	Orange juice bag n box 50% no machine	EMON-X	3	0Z	1	0.1806	69.36	9279654	
162 E	Beverage	Apple juice bag n box 50% no machine	MONARCH	3	oz	1	0.1847	70.92	940478	*
163 E	Beverage	Thicken water nectar const. 27/8 oa 7	HICK & ES	48	QZ.	6	0.0603	17.38	4240727	*
164 E	Beverage	Thicken OJ nectar const. 27/8 oz T	HICK & ES	4	0Z	24	0.1182	11.35	4233912	*
165	Beverage	Juice apple bottle 10 oz T	HIRSTER	10	OZ	24	0.0781	18.74	8429292	×
166 B	Beverage	Juice pineapple bottle								
\neg			ніретер	10	954 (#156) (BB) (24	0.0005	40.22	240000	
			HIRSTER	10	0Z	24	0.0805	19.32	3429305	
			HIRSTER	10	OZ	24	0.0781	18.74	8429292	*
170 B	Beverage	Orange Juice bag n box 50% w/ machine								
171 B	Beverage .	Apple juice bag n box 50% w/ machine					(4) (1) (4)		V2.594/V24	Atal, W
172 B	Severage :	Shasta drinks 24-12 oz or 24-6 oz S	HASTA	8	oz	48	0.0357	13.69	9273947	*
1_		Make Dhala Dha FO/4					0.4550			*
173 B	Beverage I	Mighty Shake Plus 50/4 oz. M	IIGHTYSHKS	4	OZ.	50	0.1559	31.18	6304828	

175	5 Beverage	Diet Rite 2 ltr.					₹]	8 5 5 6		
176			HILL TOP UP		<u> </u>	70	0.0000	47.00	/r 1 - 3M()) 1	
177			HILLTOP HR	2.3	ea	72	0.2392	17.22	257902	
			HILLTOP HR	2.3	ea	72	0.2504	18.03	257900	
178			LENDERS	2.3	ea	72	0.2350	16.92	6002323	
179			PILLSBURY	2.25	ea	120	0.2070	24.84	8317158	*
180			PILLSBURY	2.2	02	216	0.0701	33.33	3100153	*
181			CHEFPIERRE	2	0Z	48	0.1800	17.28	6791461	*
182	Breads, Frozer	Brad Sticks Stuffed W/Cheese 108/3 oz	BOSCO'S	3.06	oz	108	0.1427	47.17	8520983	*
183	Breads Frozen	Bread Dough Loaves 30/16 oz	RICH'S	18.25	OZ.	24	0.0691	30.25	3004959	*
184	Breads Frozen	Bread Sticks 8"	PIERRE	1.5	ea	144	0.1567	22.56	5821384	
185	Breads Frozen	Dinner Rolls Whole Grain	RICH'S	1.5	ea	240	0.1624	38.98	6017313	
186	Breads Frozen	French Toast Sticks 10#	HILLTOP HR	5	lb.	2	0.0936	14.98	5734298	
187	Breads Frozen	Garlic Bread Loaves Foil Bag 13/16 oz	NY FROZEN	12.75	OZ	1	0.1063	21.68	7218134	*
188	Breads Frozen	Hoagie Buns 8" Whole Grain	FLOWERS	10	pkg	12	2.8540	28.54	7732951	*
189	Breads Frozen	Hot Dog Buns Whole Grain 12/8 ct	FLOWERS	18	pkg	8	1.3872	24.97	6809602	*
190	Breads Frozen	Kaiser Roll 4" Whole Grain	HILLTOP HR	6	pkg	12	5.6517	33.91	4340329	
191	Breads Frozen	Muffins, English	HILLTOP HR	24	pkg	6	1.3183	31.64		
192	Breads Frozen	Pancakes Regular 144 ct	HILLTOP HR	12	pkg	12	1.1917	 	6885107	+ -
193	Breads Frozen	Pancakes Whole Grain 144 ct		12				14.30	5734553	
	Breads Frozen		HILLTOP HR		pkg	12	1.5667	18.80	3853165	
194	 	Pepperoni Rolls 36/4 oz	HOT POCKET	3	OZ .	48	0.2219	31.96	8126054	
195	Breads Frozen	Pepperoni Rolls W/Cheese 36/4 oz	HOT POCKET	3	OZ	48	0.2219	31.96	8126054	*
196	Breads Frozen	Plta Bread, Round, 6 in.					* (1) (4) (1) (1)			
197	Breads Frozen	Pizza Dough Balls 22 oz	ROSELI	26	OZ	20	0.0488	25.38	5364609	*
198	Breads Frozen	Roll Dough, Frozen, 192/2 oz	RICH'S	1.2	0Z	228	0.1061	29.04	5404785	*
199	Breads Frozen	Waffles Regular 144 ct	HILLTOP HR	18	pkg	8	0.7711	13.88	5734496	
200	Breads Frozen	Waffles Whole Grain 144 ct	BLGN CHEF	12	pkg	12	2.3667	28.40	6762785	
201	Condiments	Apple butter, US Grade A Fancy, Individual containers	SMUCKERS	0.5	oz	200	0.1577	15.77	7007008	
202	Condiments	Bacon Bits, 20#	RYT-WAY	20	lb.	1 [2.2660	45.32	8107161	163446
203	Condiments	Catsup, 33% Solids, Low Sodium, 200/11 g Individual containers	r. MENU MAĞIÇ	12	oz	200	0.2795	23.66	5083472	
204	Condiments	Catsup, 33% Solids, US Grade A Fancy, 1000/ 9 gr. Individual containers	MONARCH	9	oz	1,000	0.0507	16.10	9329384	
205	Condiments	Catsup, 33% Solids, US Grade A Fancy, 24/14 oz containers	MONARCH	14	oz	24	0.0571	19.20	7501752	*
		Catsup, 33% Solids, US Grade A Fancy,								
206	condiments	6/10's Cheese, Grated, Parmesan, 1 to 2 lb	MON-D	10	íb.	6	0.4944	20.74	5686472	
207 C	ondiments	container Tarriesan, 1 to 2 ib	ROSELI	1	lb.	12	5.9333	71.20	3596319	
208 0	ondiments	Cheese, Grated, Parmesan, 200/5 gram Individual containers	ROSELI	3.5	oz	200	0.5953	14.70	4051624	
209 C	ondiments	Dressing Mix, approx 7 oz cont (RANCH)	MONARCH	3.2	02	18	0.2922	16.83	5330766	*
210 C	ondiments	Dressing mix italian	HIDDEN VLY	6.5	oz	18	0.4714	55.15	5632849	
11 Co		Dressing, Blue Cheese, 200/12 gram individual containers.	#N/A	1.5	oz	60	0.1487	13.38	8630295	*
12 Co	ndiments	Dressing, Blue Cheese 4/1 gal	MONARCH	1	gal	4	11.1000	44.40	4328340	*
13 Co	ndiments [Dressing, Buttermilk Ranch, reg. 4/1 gai	MONARCH	1	gal	4	8.5300	34.12	5328406	•
14 Cor	ndiments (Oressing, Cole Slaw, 4/1 gallons containers	MONARCH	1	gal	4	7.7950	31.18	1328608	
15 Cor	ndiments E	Pressing, Creamy French 1.5 oz	KEN'S	1.5	0z	60	Q.1409	12.68	9103631	*
16 Con		ressing, French, Fat Free, 4/1 gallon ontainers	MONARCH	1	gai	4	7.5700	30.28	3328911	
7 Con		ressing, French, 200/12 gram individual ervings.	MONARCH	12	oz	200	0.0926	7.84	3329232	

218	Condiments	Dressing, French, 200/12 grams, Low Calorie, individual servings	PORTN PAC	12	OZ	200	0.1110	9.40	1130897	
219	Condiments	Dressing, French, 4/1 gallon containers	MARZETTI	1	gai	4	7.9300	31.72	3231263	
220	Condiments	Dressing, Italian, 200/12 gram Individual servings.	KRAFT	0.44	oz	200	0.1903	16.75	63743	
221	Condiments	Dressing, Italian, 200/12 grams, Low Calorie individual servings	PORTN PAC	12	oz	200	0.1073	9.08	4130894	
222	Condiments	Dressing, Golden Italian, 4/1 Gal	MONARCH	1	gal	4	7.6900	30.76	2328425	
223	Condiments	Dressing, Mayonnaise, 200/12 gram individual servings.	MONARCH	12	gal	200	0.1022	8.65	9329202	
224	Condiments	Dressing, Mayonnaise, Heavy Duty, 4/1 gallon containers	HARVEST VL	1	gal	4	6.6250	26.50	7329113	
225	Condiments	Dressing, Ranch, Homestyle, 4/1 gallon containers	MONARCH	1	gal	4	8.5300	34.12	5328406	
226	Condiments	Dressing, Ranch, Fat Free, 4/1 gallon containers	MARZETTI	1	gal	4	8.9700	35.88	3176237	
227	Condiments	Dressing, Ranch, Fat Free, individual, 200/12 gr	KRAFT	0.43	gal	200	0.2427	20.87	49627	
228	Condiments	Dressing, Raspberry Vinaigrette, Fat Free, 4/1 Gal	MONARCH	1	gal	4	12.4300	49.72	5328935	
229	Condiments	Dressing, Thousand Island, 200/12 gram Individual servings.	KRAFT	0.44	gal	200	0.2284	19.64	63727	
230	Condiments	Dressing, Thousand Island, 4/1 gallon containers	MONARCH	1	gal	4	8.6350	34.54	7328388	
231	Condiments	Honey, Pure, 200/12 gram individual servings.	MONARCH	9	gal	200	0.2646	16.80	2329415	
232	Condiments	Horseradish, (Plastic Bottles Only), 12/32 oz	MONARCH	32	oz	6	0.1316	25.26	8328171	
233	Condiments	Margarine, Individual Cups, 10 lb/ 600 count 5 g Low Cholestrol	PROMISE	5	0Z	600	0.2342	24.78	5006846	
234	Condiments	Margarine, Individual Cups, 10 lb/ 900 count	GLNVW FRMS	5	lb.	900	0.1108	17.58	703512	
235	Condiments	Margarine, Individual Patties, low-fat, low cholesterol, 10 lb/ 600 count	PROMISE	5	lb.	600	0.2342	24.78	5006846	*
236	Condiments	Margarine, Patties, 12 lb	GLNVW FRMS	12	lb.	1	1.2500	15.00	3341252	
237	Condiments	Mayonnaise, Heavy Duty, 4/1 gallon containers	MON-D	1	gal	4	8.1000	32.40	3335817	
238	Condiments	Mayonnaise, Individual serving, 200/11 gr	MONARCH	. 12	gal	200	0.1022	8.65	9329202	
239	Condiments	Mayonnaise, Light, with Canola Oil, 4/1 gallon containers	MONARCH	1	gal	4	7.3000	29.20	5328323	*
240	Condiments	Mushrooms, 16 oz. can	M PREMIUM	16	0Z	24	0.1558	59.82	1333699	
241	Condiments	Mustard, 200/12 grams, individual servings	MONARCH	5.5	oz -	500	0.0703	6.82	5329289	Ŕ
242	Condiments	Mustard, Salad Yellow, 4/1 gallon containers	MONARCH	1	gal	4	3.5100	14.04	4364063	
243	Condiments	Mustard, Spiced, Brown, 4/1gal container	GULDENS	1	gal	4	7.4050	29.62	8014623	
244	Condiments	Olives, green, stuffed, 340-360 ct	RYKOFF	1	0Ż ·	4	13.6150	54.46	3333705	
245	Condiments	Olives, ripe, sliced, 6/#10	ROSELI	10	lb.	6	1.0848	44.72	1332998	
\neg	Condiments		MONARCH	1000	pkt	6	0.0040	23.94	4370326	
\neg			MONARCH	18	0Z	1	1.0478	18.86	6353403	
\rightarrow			ELPASDO	10	gal	6	8.1792	38.34	7333081	
			ROSELI	1	gal	4	6.3800	25.52	1807825	
\neg			IARVEST VL	1	gal	4	5.1450	20.58	2567204	g Need v. Section of Section
			IARVEST VL	1	gal	5	4.1960	20.98	2561405	
-			ONARCH	1	gal	4	6.5850	26.34	1988450	
			IARVEST VL	1	gal	5	4.7700	23.85	1956796	* *

	254 Condiments	Pickle, Dill, Spears, #6 cans								
	255 Condiments	Pickle, Sweet Chips, 4/1 gal jars	MONARCH	1	gal	4	7.2500	29.00	1988500	
		Pimentos, Diced or Pieces, U.S. Grade	В							
	256 Condiments	Extra Standard, 24/28 oz Relish, Pickle, 200/9 gram, Sweet US G	MON-D	28	oz	24	0.0795	53.44	8328635	*
	257 Condiments	A Fancy Relish, Pickle, 4/1 gallon, Sweet US Gra	MONARCH do A	9	OZ.	200.	0.1268	8.05	6329213	
1	258 Condiments	Fancy	HARVEST VI.	1	gal	4	5.9500	23.80	2699270	*
2	259 Condiments	Salsa, mild, 4/1 gal	DELPASDO	138	gal	4	10.3500	41.40	2944775	4.48
2	60 Condiments	Salt, lodized 24/26 oz Case	MONARCH	26	OZ	24	0.0189	11.80	3 3298 85	*
2	61 Condiments	Salt, lodized, individual, 3/1000 ct	MONARCH	1000	ea	6	0.0021	12.60	5358825	
	32 Condiments	Sált substitute, Nu-Salt, 2/1000	but car x	4000						
			NU-SALT	1000	eas	2	0.0096	19.20	5007919	
26	G3 Condiments	Sauce, A-1, approx 5 oz cont Sauce, Barbecue, Thick, U.S. Grade A	A1	10	oz	12	0.3735	44.82	2003986	
26	4 Condiments	Fancy, approx 1 gallon cont	MARZETTI	1	gal	4	6.2400	24.96	1155142	*
26	5 Condiments	Sauce, Barbecue, 100/10 oz. cup	MONARCH	1	oz	100	0.0860	8.60	6329627	*
26	6 Condiments	Sauce, Cheese, U.S. Grade A Fancy, appr 6/10's cont	OX HARVEST VL	10	ľb.	6	0.7520	29.60	6564082	
26	7 Condiments	Sauce, Chile, U.S. Grade A Fancy, approx 6/10's cont	MON-D	10	lb.	6	0.5936	24.00		
268	1	Sauce, Cocktail, approx 1 gallon cont	MONARCH	1	gal	4	9.1800	24.90 36.72	9328543	*
269	Condiments	Sauce, Honey Mustard, 4/1 Gal	CLGSELECT	1	gai	4	12.3400	49.36	5883442	*
270	Condiments	Sauce, Hot, approx 1 gallon cont	TEXAS PETE	1	gai	4	10.3950	41.58	2046365	
271	Condiments	Sauce, Hot, 24/3 oz	TEXAS PETE	32	0Z	24	0.2336	16.82	2144889	*
272	condiments	Sauce,Pc Hot,500/9 gm	TEXAS PETE	7	0Z	200	0.0702	11.15	9128745	34-
273	Condiments	Sauce, Soy, approx 1 quart cont	LA CHOY	1	02	4	0.0642	32.88	7024367	
274	Condiments	Sauce, Soy, approx 200 1/2 oz containers	EASTERNSUN	9	oz	500	0.1748	27.75	4373973	
275	Condiments	Sauce, Steak, 4/1 gal	A1	1	gal	2	39.7000	79.40	4007621	
276	Condiments	Sauce, Taco, individual, 500/9G	AMERICANA	9	oz	500	0.0832		652685	
			7 SWEI GOARG	-	UZ.	300	0.0832	13.20	002085	
277	Condiments	Sauce, Tartar, approx 200/12 gram packets	MONARCH	12	oz	200	0.1210	10.24	8329302	
278	Condiments	Sauce, Tartar, approx 1 gallon cont	KATH KIT	_ 1	gal	4	6.6500	26.60	2061265	
279	Condiments	Sauce, Tabasco, approx 3 oz cont	TABASCO	2	oz	24	0.7004	33.62	3018538	
280	Condiments	Sauce, Worcestershire, 4gl/cs	MONARCH	1	gal	4	6.6850	26.74	3636982	
281	Condiments	Sauce, Worcestershire, approx 24/5oz cont	HEINZ	5	0z	12	0.1910	11.46	7014806	
	G							11.40	7014606	
282	Condiments	Sour cream, individual cups	GLNVW FRMS		oz	100	0.1306	13.06	605018	
283	Condiments	Cream cheese cups 1 oz.	GLNVW FRMS	1	oz	100	0.2154	21.54	2340875	
284	Condiments	Sweetener, Sugar Free, Acesulfame K, 3000 individual serving	USF SWT LF	2000	ea	1	0.0100	19.90 2	944510	
285	Condiments	Sweetener, Sugar Free, Sucralose, 1000 individual servings	SPLENDA	2000	ea	1	0.0162	32.45	302789	
286	Condiments	Vinegar, individual, 500/9g	MONARCH	9	oz	200	0.0416		961108	
287	Condiments	PC Ranch 1.5 OZ	MONARCH	1.5	oz	60				*
		<u></u>			<u>~~</u>		V. 14,00	11.28 4	952149	.

				,						8.4
288	Condiments	Sweet Sour Sauce 100/10 oz. cup	MONARCH	1	lb.	100	0.0958	9.58	8329625	
289	Dairy	Cheese, American, 5 lb. Blocks	GLNVW FRMS	5	lb.	1	2.4400	12.20	3340825u	
200	Dele	Chance American Stead 4/5#	CLANOW EDME	5	lb.	1	2.4000	48.00	3340817	
290	Dairy	Cheese, American, Sliced 4/5# Cheese, Cheddar, Shredded, 100% Real	GLNVW FRMS	-	ib.	4	2.4000	46.00	3340617	age to
291	Dairy	(Only) 4/5#	GLNVW FRMS	5	lb.	4	2.5600	51.20	5332630	
292	Dalry	Cheese, Cream, 10/3#/cs	GLNVW FRMS	3	lb.	10	2.3527	70.58	8340861	*
293	Dairy	Cheese, Cream, low-fat PC, 240/cs	GLNVW FRMS	1	case	100	20.6200	20.62	749853	*
230	i i i i i i i i i i i i i i i i i i i	Orocco, Orocin, ISW Int 1 0, 240/03	OLIV TY TAME		Gasc	100	20.0200	20.02	740000	
294	Dairy	Cheese, Long Horn, Bulk, 8 lb	CASSEL	14	lb.	1	2.6700	2.67/lb	1474030	
295	Dairy	Cheese, Monterey Jack, Shredded/Bulk, 4/5#	GLNVW FRMS	5	lb.	4	2.5400	50.80	4217519	
296	Dairy	Cheese, Mozzarelia, Shredded/Bulk, 4/5#	ROSELI	5	lb.	4	2.4000	48.00	7332372	*
200	,	Choose, Merzanona, Chroadea Bank, 1749	HOULE	Ť	, , , ,	 	21.1000	10.00	7002072	
297	Dairy	Cheese, Mozzarella, 5 lb Block	ROSELI	6	lb.	1	2.2000	2.20#	7382500	*
298	Dairy	Cheese, Swiss, sliced, 8/1.5 #	GLNVW FRMS	2.5	lb.	4	4.0400	40.40	4996989	*
299	Dalry	Egg Liquid, Whole, Fresh with Ctrc, 15/2#	GLNVW FRMS	2	lb.	15	1.2133	36.40	882373	
200							7.2.00		0020.0	
300	Dalry	Margarine, Solids 30/1#	GLNVW FRMS	1	lb.	30	0.6727	20.18	703496	
301	Dairy	Margarine, Liquid 2.5 gal	GLNVW FRMS	1	gal	4	7.3825	29.53	703504	
302	Dairy	Sour Cream, PC 1 oz	GLNVW FRMS	1	0z	100	0.1306	13.06	6605018	
702			02.000				0.1000	10.00	0000010	
	Dalry	Yogurt, fruit cups, individual cups 4 oz	YOPLAITTRX	4	0Z	48	0.0767	14.72	306647	*
	Dairy	Cheese Provolone Slices 6/1.5#	ROSELI	2.5	lb.	4	2.9200	29.20	4996898	*
05	Dairy	Chese Colby Sliced 6/1.5#	GLNVW FRMS	2.5	lb.	4	3.3300	33.30	4985693	*
06	Dalry	Cheese Mozzarella Sliced 6/1.5#	ROSELI	2.5	lb.	4	2.7500	27.50	4996997	*
07	Dairy	Cheese Hot Pepper Sliced 6/1.5#	LAFERIA	5	lb.	4	3.0600	61.20	5741707	*
08	Dairy	Cheese Hot Pepper Loaf Style 4-5#	METRODELI	5	lb.	2	2.6900	26.90	8402091	4-1
09	Deli-Meat	Chicken Roll, 2/10#	METRODELI	5	lb.	2	5.1200	5.12#	6742118	
10	Dell-Meat	Corned Beef, 2/10#	PATUXENT	12	lb.	2	3.5400	3.54#	5756176	*
11	Deli-Meat	Turkey Bologna, 2/10#								
12	Deli-Meat	Turkey Breast, 2/10# CKD	PATUXENT	10	lb.	2	2.6100	2.61#	5327457	
13	Deli-Meat	Turkey Ham, 2/10#	CAROLINA	8	lb.	2 .	3.0800	3.08#	2370542	
14	Desserts	Carrot Cake, Frozen, 4/60 oz	SARA LEE	59	oz	.4	0.2121	50.06	8037590	, ki
\neg	Desserts	Key Lime Pie, Frozen, 6/34 oz	CHEFPIERRE	37	oz	6	0.2135	47.40	5247671	*
\neg	Desserts		PILLSBURY	3	0Z	100	0.1419	42.58	2252286	*
\neg	1		PILLSBURY	2.29	oz oz	72	0.2068	34.10		*
									8872145	*
			CHEFPIERRE	42	0Z	6	0.1227	30.92	6012967	*
			SARA LEE	16	case	12	51.3000	51.30	7000433	
0 0			SARA LEE	22	case	6	28.5600	28.56	9260258	*
.			DEVONSHIRE	36	0Z	- 6	0.1704	36.80	4578985	
			SARA LÉE	42	ea	6	9.1467	54.88	8012957	· * Serie por i
			DEVONSHIRE	33	ea	6	6.6300	39.78	4571899	N.A.A.
4 D		· · · · · · · · · · · · · · · · · · ·	DEVONSHIRE	46	ea	6	4.2100	25.26	4568846	*
5 D	esserts (Cherry Pie Raw 6/10"	DEVONSHIRE	46	ea	6	6.1333	36.80	4568770	*
6 D	esserts (Chocolate Meringue Pie 4/10"	CHEFPIERRE	38	ea	6	6.2200	37.32	2037232	*
7 D	esserts (Coconut Meringue Ple 4/10"	CHEFPIERRE	46	ea	4	7.9550	31.82	2260784	
				İ		}		,		
	esserts (Chocolate Brownie Bakes Sheets 3/SHTS	SARA LEE	84	pkg	3 [17.7200	53.16	9022682	1 : 1

32	29 Deşserts	Funnel Cakes Baked 48/5"	1 % 1	2.9	ea	48	0.4788	22.98	1179738	*
33		Sherbert Raspberry 96/cups	LUIGI'S	4	cup	96	0.3252			
*33		Sherbert Orange 96/cups	LUIGI'S	4	cup	96	0.3252			1 15 16 1
33	2 Desserts	Vanilla Ice Cream 24/4 OZ cups	GLNVW FRMS	_	cup	48	0.2719		3550342	
33		Chocolate Ice Cream 24/4 OZ cups	GLNVW FRMS	_	OZ.	48	0.0680		9118234	
33		Apple Turnovers Whole Grain W/Calcium 96/4 oz		2.29	OZ	72	0.2068		8872145	
335	5 Desserts	Cherry Turnovers Whole Grain W/ Calciur 96/4 cz	TI PILLSBURY	2.29	02	72	0.2068	34.10	8872137	tr
336	Desserts	Pie Apple Sugar Free 6/10"	CHEFPIERRE	45	ea	6	6.8767	41.26	4606992	
337		Pie Cherry Sugar Free 6/10"	CHEFPIERRE	43	ea	6	7.8083			*
338		Pie Pumpkin Sugar Free 6/10"						46.85	4606513	
	1		CHEFPIERRE	43	ea	6	6.4067	38.44	2810018	Area of the
339	Desserts	Pie Pumpkin 6/10"	DEVONSHIRE	46	ea	6	4.6330	27.80	4568804	*
340	Desserts	Pie Cream Sugar Free 6/25 oz	CHEFPIERRE	28	OZ.	6	0.3095	52.00	319707	
341	Desserts	Cobbier Blackberry 2/5#	HARVEST VL	96	lb.	4	1.7604	42.25	4571816	
342	Desserts	Mix Fruit cups 4 oz	MON-D	4	oz	48	0.1357	26.08	1364595	
343	Desserts	Diced Peach cups 4 Ooz	MON-D	4	OZ	48	0.1357	26.08	9364589	*
	Desserts	Pinappie Cups 4 oz	1					 		
344	Desserts	Gelatin Raspberry W/Mixed Fruit cups 4 OZ	MONARCH	4.3	OZ OZ	36	0.1357	20.88	6984033	*
346	Desserts	Gelatin Lime W/Pears cups 4 OZ	DOLE	4.3	oz	36	0.1349	20.88	7324965	*
		Dessert Strawberry W/Whip Topping cuo		245 W.	1.2	4 3 11 17		20.00	1024000	
347	Desserts	4.25 OZ								
348	Dessetts	Strawberry Glaze 6/#10	MONARCH	10	lb	6	0.7168	29.81	5330998	
349	Dessets	Chocolate Cake 9 in. 3 layer 4/50 oz.	SARA LEE	53	oz	4	0.2310	48.97	5011770	
350	Dessets	Puff Pastries	HILLTOP HR	2	ea	120	0.3767	45.20	4331351	*
351	Desserts	Applie Pie 6/46, heat and serve	DEVONSHIRE	46	ea	6	4.2100	25.26	4568846	*
352	Desserts	Cherry Pie 6/46, heat and serve	DEVONSHIRE	46	ea	6	6.1333	36.80	4568770	*
353	Desserts	Peach Pie 6/46, heat and serve	DEVONSHIRE	46	ea	6	6.0200	36.12	4571501	*
-	Desserta	Chips Ahoy 100 calorie snack 72 ct	CHIPS AHOY	0.81	pkg	72	0.4353	31.34	5497284	
355	Desserts	Chocolate Cream Pie 6/36 oz.	DEVONSHIRE	27	0Z	6	0.2147	34.78	4578423	
356	Desserts	Fruit puree,Pineapple 24/2.5z	THICK & ES	2.5	0z	24	0.3053	18.32	4428934	*
357	Desserts	Fruit puree,Pears 24/2.5z	THICK & ES	2.5	0z	24	0.2912	17.47	1428937	*
358	Desserts	Fruit puree,Peaches 24/2.5z	THICK & ES	2.5	oz	24	0.2912	17.47	4429213	*
359	Desserts	Fruit puree, Mixed Fruit 24/2.5z	THICK & ES	2.5	oz	24	0.2912	17.17	2428936	*
360	Frozen Entrees	Beef Finger Steaks, 160/1 oz pieces	ADVANCE	1	oz	160	0.1535	24.56	8419129	
		Block Cod, Quick Frozen, 4 oz portions, Uncooked, Boneless, Unbreaded, Skinless,		١						
361 F	rozen Entrees	1/10 lb case	нв-т	10	lb	1	4.8600	48.60	4774162	
362 F	rozen Entrees	Block Pollock, Quick Frozen, 4 oz portions, Uncooked, Boneless, Unbreaded, Skinless, 1/10 lb case	PACKER	10	lb	4	1.8000	72.00	6119036	
163 F	rozen Entrees	Block Salmon, Quick Frozen, 4 oz portions, Uncooked, Boneless, Unbreaded, Skinless, 1/10 lb case	FISHERY	10	lb	1	6.1600	61.60	2441210	
	rozen Entrees	Breakfast Pizza	THE MAX	2.66	ea	192	0.2629		-	<u>% 4</u>
								50.48	8962334	
	rozen Entrees	Cabbage Rolls, Frozen, 4/cs	MOLLYS KIT	92	case	4	68.0400	68.04	1326305	
66 F	rozen Entrees	Catfish, Frozen, Unbreaded, 35/6.8 oz	HARBOR BNK	15	oz	1	0.3473	83.34	8333361	
67 F	rozen Entrees	Chicken, breast, boneless, skinless, 4/10#	PATUXENT	10	lb	4	1.5663	62.65	2720977	*
68 Fr	ozen Entrees	Chicken, breast, boneless, skinless, 24/4 oz	PATUXENT	4	oz.	48	0.1833	35.20	7000383	
69 Fr	ozen Entrees	Chicken Breast, Breaded, Hoagie Style, 60/3 oz	SUPERCRISP	4	oz	40	0.2719	43.50	8275943	
ro Fr	ozen Entrees	Chicken, Grilled, Fajita Strips, 2/5#	SMART SERV	5	lb	2	4.0250	40.25	9144882	

371	Frozen Entrees	Chicken Nuggets, 5 nuggets = 3oz, 250/.66 oz Cn Label	TYSON	0.69	oz	250	0.1266	21.51	6071948	
372	Frozen Entrees	Chicken Round White, Breaded Breast Fillet 60/3 oz Cn Label	TYSON	3.53	oz	60	0.1280	27,10	4071940	
373	_	Chicken Tenders, Cn Label	PATUX PREM	5	lb lb	2	3.2500	32.50	7777063	*
374	_	Chicken Thighs, Frozen, 96/4.9 oz	#N/A	4.66	oz	96	0.1069	47.88	8456865	17.1.23.1.14
375	+	Chicken, Raw, Leg Quarters, 4/10#	PATUXENT	10	Ib	4	0.7975	31.90	2725364	
376	_	Chip Beef, Creamed	MOLLYS KIT	76	lb lb	4	3.0874	58.66	+	*
-	Frozen Entrees		+	+	 				3326303	*
377	1 TOZETI ETIBLES	Corn Dog, Mini Nuggets, 240/ .67 oz.	HS RAEFORD	0.67	OZ	240	0.1336	21.48	8081960	
378	Frozen Entrees	Fish Patty, Breaded, (Pollock or Whiting) 3.6 oz serving, 1/10 lb	HIGHLINER	4.5	ib	4	2.7200	49.00	7680044	
		Fish Sticks, Breaded, Oven Ready, Pollock (Breading not to exceed weight by 30%), 10#		1						
379	Frozen Entrees	Case	HIGHLINER	5	lb lb	4	2.6390	52.78	6917470	
										1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
380	Frozen Entrees	Gravy, sausage & chipped beef, case pack	LIBBY'S	105	pck	6	8.8167	52.90	510511	*
		Hom 400/ Water added Bound Sected								4 4 4 4 4
381	Frozen Entrees	Ham, 10% Water added, Round, Smoked, 10#	PATUXENT	12	lb	2	2.0500	2.05#	5887039	
382	Frozen Entrees	Ham, Tavern, 4/15 # apprx	PATUXENT	14	lb	2	2.0300	2.03#	5899737	*
\vdash			PATOAENT	17			2.0300	2.03#	3088737	100000000000000000000000000000000000000
383	Frozen Entrees	Ham & Cheese Pockets, 4 oz.	Programme III							TANGER SA
384	Frozen Entrees	Hot wings, Spicy, 4/#10 CKD	PIERCE	25	lb	1	3.6224	90.56	1134105	
385	Frozen Entrees	Mr. Ribb, Pork Ribb, 40/4 oz RAW	ADVANCE	4	oz	40	0.1825	29.20	6156293	
386	Frozen Entrees	Pepperoni, Sliced 10#	ROSELI	12.5	lb	2	2.8400	71.00	8329674	410 ABS
387	Frozen Entrees	Pizza, Cheese, 96/ 4.8 oz servings	TONYS	4.6	 	96	0.1192	 		
					OZ			52.64	402057	
388	Frozen Entrees	Pizza, Pepperoni, 96/ 5 oz servings	TONYS	4,48	OZ	96	0.1224	52.64	378216	*
389	Frozen Entrees	Pork Choppies, Breaded 48/3.5 oz	CLASSICS	3	oz	85	0.1885	48.06	1005354	*
390	Frozen Entrees	Pot Pies, Beef, 24/7oz								
391	Frozen Entrees	Pot Pies, Chicken, 24/7 oz						45		
392	Frozen Entrees	Ravioli, Cheese, CN Label, 10#	BERNARDI	5		2	0.1978	24.65	6067400	*
					02			31.65	6067193	\vdash
393	Frozen Entrees	Salisbury Steak, 75/3.2 oz servings	ADVANCE	3	OZ	114	0.1796	61.44	7160591	*
394	Frozen Entrees	Steakums, minute steaks, case pack	STEAK-EZE	2	oz	80	0.3206	51.30	9272634	*
395	Frozen Entrees	Turkey Cold Cuts, Sliced Assorted,	JENNIE-O	1	lb	12	2.8080	33.70	9173592	*
396	Frozen Entrees	Turkey, Pulled, 10#/cs	CAROLINA	10	lb	1	6.1380	61.38	4077285	
397	Frozen Entrees	Veal Steak Patties	PATUXENT	4	lb	40	3.6900	36.90	4339040	
907		Total Octobrit Miles	TATOALITI	7	10	40	0.0000	30.90	4333040	
398	Frozen Entrees	Vegetable Lasagna, Frozen, with Red Sauce	MOLLYS KIT	96	lb	4	2.3092	55.42	7326309	
399	Frozen Entrees	Turkey Hot Dogs, Frozen	FARMLAND	2	lb	80	2.4960	24.96	5710124	
400	Frozen Entrees	Turkey Bacon, Frozen, 10#	JENNIE-O	1	lb	3	13.6600	40.98	8475618	
401	Frozen Entrees	Sausage Turkey, Breakfast Links	JIMMY DEAN	1	lb	10	3.3600	33.60	6275283	
402	Frozen Entrees	Peppers, Stuffed, frozen, 4/5#	MOLLYS KIT	83	oz	4	0.1669	55.42	9326299	*
403	Frozen Entrees	TV Dinners - Salisbury Steak 12/9.9 oz						4-4-50		
	Frozen Entrees	TV Dinners - Turkey 12/9/.5 oz		i vijas ir tila	S412 435 44			17 17 15 16 18 18 18 18 18 18 18 18 18 18 18 18 18		
405	Frozen Entrée	Burito Breakfast Sausage Egg & Cheese	FERNANDO'S	3.5	lb	90	2.6790	52.75	7722879	*
406	Frozen Entrée	Egg Roll Chickern & Veg 60/3 OZ								
407	Frozen Entrée	Egg Roll Breakfast 108/2 OZ								
408	Frozen Entrée	Pizza Pockets Pepperoni & Chese 4.5 OZ	OT POCKET	3	0.7	48	0.2129	30.66		*
					OZ				8126054	
409 F	rozen Entrée	Burrito Beef Bean & Cheese 72/4.75 OZ	BUTCHR BOY	4	OZ	72	0.1524	43.90	8124083	*
410 F	rozen Food	Sausage pattie cooked 1.5 oz	PATUXENT	1.5	oz	107	0.1349	21.59	8328569	*.
411 F	rozen Food	Bread, Demi-Loaf, White, 60/6 oz						49 - 4 A A		
		For Delling Pound 450/45 - Minter								1 12 11 10 14
412 F	rozen Food	Egg Patties, Round, 153/1.5 oz., Michael Food 652025	SLNVW FRMS	1.5	oz.	120	0.1306	23.50	761676	*
	-									
413 F		Egg Patties, Round, With Cheese, 240/1.25 oz., Michael Food 815400 F	APETTI'S	1.25	oz.	228	0.1427	40.68	8351330	*
									223,000	
414 F		Cookie dough, Chocolate Chip, frozen, 240/1	IARVEST VL	1	oz	320	0.0889	28.46	8465374	*
$\neg \uparrow$									2.35571	
415 F		Cookie dough, Ranger, frozen, 240/1 oz per co V	ALUE ZONE	1	oz	320	0.1033	33.04	5301072	
F		<u></u>		,	 l			55,5-T	0001072	

_										
4	16 Frozen Food	Cookle dough, Peanut Butter, frozen, 24 oz per co	0/1 VALUE ZONE	1	oz	320	0.112	3 35.95	1201664	1
41	17 Frazen Food	Cookie dough, Sugar, frozen, 240/1 oz p	er co DEL ESSNTL	1	oz	384	0.154	59.36	6796361	
41	8 Frozen Food	Cookie dough, Oatmeal, frozen, 240/1oz	per DEL ESSNTL	1	oz	384	0.1546	5 59.36	7693591	
41	9 Frozen Food	Corn Dogs on a stick, All beef, 60/2.7 oz.	STATE FAIR	4	oz	48	0.1846	35.44	8157638	*
Г		Pizza Crusts, Raw, 12" Diameter, approx	24	1						
42		Pizza Round 5", Grated Mozzarella Cheet Tomato Sauce and Spices on Crust, approz serving portions, approx 60 count per to	ox 3	5.2	box	12	1.3017		2181667	
422	Prozen Food	Pizza Round 5", Grated Mozzarella Chees Tomato Sauce and Spices on Crust, appro oz serving portions, approx 60 count per b	ox 4	5.2	box	54	1.0589	57.18	1019520	
423	Frozen Food	Sausage, patties, 1.5 oz WHOLE HOG	PATUXENT	1.25	iz	128	0.1496	28.72	8328643	*
424	Frozen Food	Taco Shells, Stone Ground Corn, approx 2 count and approx 8 oz each	00 MISSION	25	box	8	1.6525	13.22	4073284	
425	Frozen Food	Whipped Topping, (Non-Dairy) Similar to heavy cream. approx 1/2 gallon cont.	GLNVW FRMS	16	oz	12	0.1869	35.88	180638	*
426	Frozen Food	Breaded Flounder 4OZ 10#	BW-T	10	OZ	1	0.2694	43.10	8379422	*
427	Frozen Food	Fish Tails Pollock Breaded Breaded 40/4 O	Z VIKING	10	0Z	1	0.2463	39.40	5152814	*
428	Frozen Food	Fish Pollock Battered 53/3 OZ	VIKING	10	OZ	1	0.2346	37.54	6356646	*
429	Frozen Food	Sausage & Pancake on Stick 60/2.7 OZ	STATE FAIR	2.5	02	60	0.2256	33.98	2060168	k
430	Frozen Food	Hush Puppies Baked 2/5#	AMERS CTCH	5	lb	2	0.1140	18.24	4926762	*
431	Frozen Food	Breaded Macaroni & Cheese Wedge 6/3#								
432	Frozen Food	Stuffed Potato Sour Cream & Chives 54/5 O.	Z LMBSUPTWCB	8	oz	42	0.1621	54.48	4329066	*
433	Frozen Food	Breaded Chicken Pattie Whole Grain 140/3.	TYSON	3.53	oz	60	0.1221	25.86	4071940	
134	Frozen Food	Breaded Chicken Nugget Whole Grain 705/.68 OZ	#N/A	0.69	OZ	250	0.1210	20.88	6071948	
135	Frozen Food	Hot Dof Chili 4/3#	TOP QUALTY	5	oz	2	0.1980	31.62	7984149	*
136	Frozen Food	Turkey Corn Dogs 40/4 OZ	STATE FAIR	4	lb.	48	3.1140	31.14	9039843	*
37	Frozen Food	Chicken Diced Natural 1/2" 10#	PATUXENT	10	lb	1	3.2000	32.00	1382662	*
38	Frozen Food	Cod Block 6 oz. IQF #10	нв-т	10	!b	1	4.5960	45.96	4774238	
39	Pasta	Pasta Sheets, 10#/cs	ROSELI	10	lb	1	1.6060	16.06	1467785	(4) (4) (4) (4) (4) (4) (4) (4) (4) (4)
\Box	Frozen Food	Pretzel Soft Bake Pretzel Suffed W/Cheese 50/5 OZ	GILARDI	3	OZ.	108	0.1873	60.70	9689266	*
41 F	rozen F ood	Pretzel Soft Baked 100/2.5 OZ	SUPR PRTZL	2.5	0Z	100	0.1259	31.48	3000296	*
12 F	rozen Food	Pretzel Soft Baked Stuffed W/Pizza 24/5 OZ								
3 F	ruit, Canned	Apple, Sliced, Solid Pac, US Grade A Fancy, 6/10 containers	ORC/R	10	lb	6	1.0096	42.42	8443756	*
4 F	ruit, Canned	Applebutter, US Grade A Fancy, 6/10 containers								
5 Fr	ruit, Canned	Apples, Sliced, waterpacked, 6/10 containers	ORC/R	10	lb	6	1.0096	42,42	8443756	
6 Fr	uit, Canned	Applesauce, US Grade A Fancy, individual containers	MONARCH	4	oz	72	0.0774	22.30	5790316	*
7 Fr	ult, Canned	Applesauce, US Grade A Fancy, 6/10 containers	MON-D	10	lb	6_	0.7312	29.36	6328363	

		Applesauce, US Grade A Fancy, Sugar Free	1				T			
448	Fruit, Canned	6/10 containers	PACKER	10	lb	6	0.7184	28.80	2093656	
449	Fruit, Canned	Apricots, Halves, Unpeeled, 86-108 ct, US Grade B Choice, 6/10 containers juice pk	MON-D	10	pkg	6	1,1008	44.20	8328189	
		Blueberries, Water Packed, US Grade B,								
450	Fruit, Canned	6/10 containers Cherries, Dark Sweet, Bing Pitted, U.S.	Mar Page	* haren * f						
451	Fruit, Canned	Grade A Fancy, in extra heavy syrup, approx 6/10's	MON-D	10	lb	5	2.0656	81.34	7329428	*
452	Fruit, Canned	Cherries, Maraschino, Whole, With stem, U.S. Grad A Fancy 1/2 Gal.	MONARCH	0.5	gai	5	16.8667	50.60	4523486	
453	Fruit, Canned	Cherries, Red, Sour, Pitted, Water Packed, U.S. Grade B Choice, approx 6/10's								
454	Fruit, Canned	Cherries, Royal Anne, Pitted, U.S. Grade A Fancy, approx 6/10's								
455	Fruit, Canned	Cranberry, Sauce, Jellied, U.S. Grade A Fancy. approx 6/10's	MONARCH	10	lb	6	14.5152	39.82	2328490	
456	Fruit, Canned	Fruit Cocktall, U.S. Grade B Choice, approx 6/10's light syrup	MONARCH	10	lb	6	18.6368	46.32	8731028	
457	Fruit, Canned	Fruit Cocktail, Unsweetened, 6/10's	MON-D	10	lb	6	18.6112	46.26	7328123	
458	Fruit, Canned	Fruit for Salad, U.S. Grade A Fancy, approx 6/10's light syrup	MON-D	10	lb	6	19.8656	49.38	5328224	
459	Fruit, Canned	Grapefruit Sections, US Grade B Fancy, 12/50 oz containers	INTL GOLD	46	oz	12	0.0767	42.34	3333689	*
460	Fruit, Canned	Oranges, Mandarin, Whole Sections, U.S. Grade B Choice, approx 6/10's	MONARCH	10	lb	6	0.7920	30.57	3333812	
461	Fruit, Canned	Orange Segments, Mandarin in Pear Juice (No sugar added) 12 50 oz.	MONARCH	10	OZ.	6	0.0507	31.96	2463479	*
462	Fruit, Canned	Peaches, Yellow Cling, Halves, Peeled, U.S. Grade B Choice, approx 6/10's	MONARCH	10	lb	6	1.0800	42.96	8731077	*
463	Fruit, Canned	Peaches, Yellow Cling, Diced, U.S. Grade B Choice, approx 6/10's light syrup	MON-D	10	ĺb	6	1.1472	45.60	9328147	*
464	Fruit, Canned	Pears, Diet SLICED IN JUICE 6/10#	MON-D	10	lb	6	1.0832	42.26	7355712	
465	Fruit, Canned	Pears, Halves, Bartlett, 30-45 ct, U.S. Grade A Fancy, approx 6/10's UNSWEETENED	MON-D	10	lb	6	1.0832	42.26	5328133	*
466	Fruit, Canned	Pears, Halves, Bartlett, 30-45 ct, U.S. Grade A Fancy, 12/50 oz	MONARCH	10	lb	6	1.0080	40.06	8808180	*
467	Fruit, Canned	Pears, Diced, Bartlett, 30-45 ct, U.S. Grade A Fancy, approx 6/10's	MONARCH	10	lb	6	1.1040	43.91	8791345	*
468	Fruit, Canned	Pears, Halves, Bartlett, 40-50 ct, U.S. Grade B Choice, approx 6/10's L/S	MONARCH	10	lb	6	1.0080	40.06	8808180	*
469	Fruit, Canned	Pineapple, Chunks, Juice Pk, (Hawaii / Philippines ONLY), U.S. Grade A Fancy, approx 6/10's	HARVEST VL	10	lb	6	1.0048	39.55	1333517	*
	Fruit, Canned	Pineapple, Crushed, Hawaii, U.S. Grade A Fancy, approx 6/10's	MONARCH	10	lb	6	1.1760	46.74	3333788	*
	Fruit, Canned		MONARCH	10	lb	6	1.1760	46.74	3333788	
	Fruit, Canned	Pineapple, Sliced Whole, Unsweetened, 50-	HARVEST VL	10	lb	6	1.0048	39.55	7333503	,
	Fruit, Canned	Pineapple, Tidbits, U.S. Grade A Fancy,	HARVEST VL	10	lb	6	0.9664	38.40	6333504	
474	Fruit, Canned	Plums, purple, halves, unsweetened, 6/#10	CARBOTROL	10	lb	6	1.0672	42.05	5015631	*
	ruit Canned		MONARCH	10	ib	6	0.9680	38.81	7333628	
	Fruit Canned	Prunes 6/#10								
	ruit Canned		Carbotrol	10	lb	3	3.5136	72.46	9804709	

47	78 Fruit Canned	Peaches Sliced In Light Syrup 6/#10	MONARCH	10	lb	6	1.1104	44.16	8731127	,
47	79 Fruit, Frozen	Sliced Strawberries 4+1 6/6.5#	MONARCH	6.5	lb	6	1.5567	60.71	9327610	
48	Fruit, Dried	Raisins, Individual Serving	POWER SNAC	1.3	pkg	144	0.3396	48.90	2980233	
48	1 Fruit, Dried	Raisins, Grade A Fancy, California Seedle 24/15 oz	ess, Azar	15	oz	24	0.1582	56.94	8440604	
		Orange and Grapefruit Sections, Chilled, Unsweetened, Packed in citrus juice less than .1% sodium benzoate added, approx	4/1							
482	2 Fruit, Refrigerati	ed gal cont.	CROSS VALY	8	gal	1	2.8290	22.63	5924469	*
483	Grocery Misc	Turkey Sausage Egg and Cheese on Wafi Indv Wrapped	le							
484	Jellies	Honey, Pure, Strained extracted, US Grade Choice, 6/5#	HARVESTVL	5	lb	6	2.0680	62.04	3737152	
485	Jellies	Jam, Blackberry, US Grade A Fancy, 200/ oz containers	SMUCKERS	0.5	02	200	0.2056	20.56	3017779	
486	Jellies	Jam, Strawberry, US Grade A Fancy, 200/2 oz containers	MONARCH	0.5	oz	200	0.1406	14.06	8329260	
487	Jellies	Jelly, Apple, US Grade A Fancy, 6/10 containers	MONARCH	0.5	lb	200	1.4080	8.80	2329282	
488	Jellies	Jelly, Assorted Flavors, US Grade A Fancy, 200 / 1/2 Individual containers	MONARCH	0.5	case	200	8.9000	8.90	2329274	
489	Jellies	Jelly, Apple, US Grade A Fancy, 6/10 containers								
490	Jelles	Jelly, Grape, Artificially Sweetened, 6/10 containers	CARAGE HSE	10	lb	6	1,2480	50.54	9012535	# ETSE #12 # SD
491	Jellles	Jelly, Grape, US Grade A Fancy, 6/10 containers	CARAGE HSE	10	lb	6	1.2480	50.54	9012535	
492	Jellies	Jelly, Grape, US Grade A Fancy, 200/1/2 oz containers	MONARCH	0.5	oz	200	0.0842	8.42	7329279	
493	Jellies	Jelly, Strawberry, Artificially Sweetened, 6/10 containers	a straig desire					3 3 3 4 3	1029219	
494	Jellies	Preserves, Strawberry, US Grade A Fancy, 6/10 containers								
495	Jellies	Syrup, Light, Maple Flavor, 12/12 oz individual containers	SMUCKERS	14.5	oz	12	0.1484	25.82	5202288	
496	Jellies	Syrup, Light, Maple Flavor, 100/1.5 oz individual containers	MONARCH	1	0Z	100	0.1020	10.20	5596937	*
497	Je!lies	Syrup, Maple Flavor, with dipping cups	MONARCH	1.5	case	100	8.4300	8.43	3329349	*
198 J	Jellies	Syrup, Maple Flavor, 4/1 gallon containers	HARVEST VL	1	gai	4	6.3950	25.58	9327636	
199 J	Juice, Bottled	Orange 10 oz Bottles, 24/10 oz.	THIRSTER	10	0Z	24	0.0781	18.74	5429303	*
900 J	luice, Bottled	Apple 10 oz Bottles, 24/10 oz.	THIRSTER	10	02	24	0.0781	18.74	8429292	*
i01 J	uice, Bottled (Grape 10 oz Bottles, 24/10 oz.	THIRSTER	10	oz	24	0.0805	19.32	3429305	
02 Ji	uice, Bottled	Grapefruit 10 oz Bottles, 24/10 oz.								
03 Jı		Apple 100% Juice / Plastic Screw Off Lids / lottles 12/46 oz.	THIRST/MON	46	OZ	12	0.0507	27.96	6954606	
04 Ju	vice, Bottled L	ranberry 100% Juice / Plastic Screw Off lds / Bottles 12/46 oz	THIRST/MON	46	oz	12	0.0456	25.19	5326640	
)5 Ju		rape 100% Juice / Plastic Screw Off Lids / ottles 12/46 oz	THIRST/MON	46	0Z	12	0.0577	31.85	5327408	
	G	rapefruit 100% Juice / Plastic Screw Off ds / Bottles 12/46 oz								
	ice, Bottled Li									es prostation & Section
)6 Jui	O	range 100% Julce / Plastic Screw Off Lids /	HIRST/MON	46	0z	12	0.0425	23.44	3327400	*
)6 Jui	ice, Bottled Bo	range 100% Julce / Plastic Screw Off Lids / Tottles 12/46 oz Total Plastic Screw Off	HIRST/MON	46	oz oz	12	0.0425	23.44 32.81	3327400 6952519	*

51) Juice, Bottled	Tomato 100% Juice / Plastic Screw Off Lids Bottles 12/46 oz	/ THIRST/MON	46	oz	12	0.0422	23.27	6952600	
51	Juice, Bottled	V-8 100% Juice / Plastic Screw Off Lids / Bottles 12/46 oz	V8	46	oz	12	0.0484	26.71	9001967	*
_ 512	Juice, Bottled	Lemon Juice, Pure, 12/32 oz container	THIRST/MON	32	oz	12	0.0550	21.11	577148	
513	Juice, Bottled	Tomato Juice, No salt added, 12/46 oz	RED GOLD	46	oz	12	0.0330	18.23	4369591	*
514	Juice	Fruit Punch Flavor 48/6 oz. 25% real juice or less								
515	Juice	Orange Flavor 48/6 oz 25% real juice or less								
516	Juice, Canned	Apple Juice, 48/6 oz	THIRSTER	5.5	0z	48	0.0755	19.94	4469870	*
517	Juice, Canned	Cranberry Cocktail, 48/6 oz	THIRSTER	5.5	oz	48	0.0766	20.23	2470003	
518	Juice, Canned	Cranberry Juice, 100% Juice Base, 12/32 oz containers Dry Storage	THIRST/MON	33.8	oz	12	0.1816	73.64	1365493	
519	Juice, Canned	Grape Juice, 48/6 oz	THIRSTER	5.5	oz	48	0.0840	22.18	4470142	
520	Juice, Canned	Grapefruit Julce, 48/6 oz	THIRSTER	5.5	oz	48	0.0711	18.78	3470119	*
521	Juice, Canned	Orange Juice, 48/6 oz	THIRSTER	5.5	oz	48	0.0718	18.96	285379	*
522	Juice, Canned	Pineapple Juice, 100% Juice Base, 12/46 oz containers								
523	Julce, Canned	Pineapple, Juice, Unsweetened, US Grade A, 12/46	THIRST/MON	46	oz	12	0.0594	32.81	6952519	
524	Juice, Canned	Prune Juice, 48/6 oz	RUBY KIST	5.5	oz	48	0.1095	28.90	948083	
525	Juice, Canned	Prune Juice, 100% Juice Base, 12/32 oz containers Dry Storage	THIRST/MON	33.9	0Z	12	0.1893	76.78	4365482	*
526	Juice, Canned	Tomato Juice, 100% Pure, US Grade A, approx 6 oz cont	THIRSTER	5.5	oz	48	0.0688	18.17	3470143	*
527	Juice, Canned	Tomato, Juice, Salt Added, No Sugar, US Grade A, 12/46	THIRSTER	46	oz	12	0.0288	15.88	5910589	
528	Juice, Canned	Vegetable Juice Cocktail (V-8), 48/6 oz	V8	5.5	0Z	48	0.0995	26.28	1020551	
529	Juice, Cup	Orange Juice, No Thaw, 48/4 oz	OCEANSPRAY	4	oz	48	0.0799	15.35	3008539	
530	Juice, Cup	Cranberry Juice, No Thaw, 48/4 oz	OCEANSPRAY	4	oz	48	0.0744	14.28	4008538	*
531	Juice, Frozen	Apple Juice, 100% Juice Base, No sugar added 12/32 oz	GREG PACK	32	oz	12	0.0906	34.80	2438596	
532	Juice, Frozen	Grape Juice, 100% Juice Base, 12/32 oz containers Frozen No sugar added	GREG PACK	32	oz	12	0.0984	37.80	9395807	
533	Juice, Frozen	Grapefruit Juice, 100% Juice Base, 12/32 oz containers								
534	Juice, Frozen	Orange Juice, Frozen, 96/4 oz/cs	SUN CUP	4	oz	72	0.0428	12.34	7412836	*
535	Juice, Frozen	Orange Juice, 100% Juice Base, 12/32 oz containers Frozen No sugar added	HIRSTER	32	. oz	12	0.1195	45.90	1326693	
	Juice, Frozen	Prune Juice, Frozen, 100% Pure, Extract of Dried Prunes, US Grade A, approx 16 oz cont	HIRST/MON	33.8	oz	12	0.1893	76.78	4365482	*
537	Juice, Frozen	Prune Juice, Frozen, 100% Pure, Extract of Dried Prunes, US Grade A, 48/4 oz	/ONARCH	4	OZ.	96	0.0998	38.34	3672326	*
538	Frozen Juice	Cherry Juice Bars 100/2.5 OZ.	VHOLEFRUIT	2	oz.	100	0.1350	27.00	5844923	*
	Frozen Juice		VHOLEFRUIT	2	OZ	100	0.1350	27.00	5846936	*
540	Frozen Juice	Grape Juice Bars 100/2.5 OZ	VHOLEFRUIT	2	oz	100	0.1350	27.00	5844931	*
541		Aluminum Foli, Individual Sheets, 8"x12" Popup Pack	IONOGRAM	500	ea	6	0.0146	43.82	3328259	*

_										
	542 Kitchen Su	Aluminum Foil, 1,000 foot roll, Standal wide	rd 18" MONOGR	AM 1	l ro	1	30.950	00 30.9	5 432826	.6 *
4	543 Kitchen Su	opties Aluminum Foil, 1,000 foot roll, HD, 24"	wide DURABLE	1	rol	1	136.24	00 136.2	4 175059	
	544 Kitchen Sup	oplies Apron, 4 Way waste cloth bib, 265042,	doz NDG/SUPE	R_ 1	do	2 1	70.560	0 5.88	9399056	6
	Kitchen Sup	plies Cup Cake Papers, 20/500	HOFFMAS	ren 50	0 box	20	2.6750	53.50	1067727	, .
5	46 Kitchen Sup	Nonstick Spray Coating, 12 oz containe	er QUALI-FRY	17	OZ	6	0.1808	18.44	3708278	
5	47 Kitchen Sup	Nonstick Spray Coating, Butter Flavor, container	12 oz BEYOND	17	oz	6	0.2451	25.00	5771936	
5.	48 Kitchen Supp	Pan Saver - Pan Liners, 1/2 size 4" to 6 deep	HANDGARD	os 100) box	1	31.5000	31.50	2429496	
54	49 Kitchen Supp	lies Pan Saver - Pan Liners, Full Size, 6" de	BP PANSAVER	100	box	1	39.5600	39.60	9369083	
55	Nitchen Supp	ies Pan Liners, 13 X 18 Full Size	MONOGRAM	1 1000) box	. 1	32.3000	32.30	730069	
55	i1 Kitchen Supp	es Disposable Pan Rack Covers, 52 X 80	HANDGARD	s 50	box	1	17.5000	17.50	6150528	
55	2 Kitchen Suppl	es Paper Bags, #10	MONOGRAM	5000	lb	2	1.5146	42.41	738914	
55	3 Kitchen Suppli	es Paper Bags, Brown Lunch 6#	MONOGRAM	500	lb	2	1.6730	33.46	738872	
554	1 Kitchen Suppile	es Plastic Portion Cup, 2 oz	MONOGRAM	200	box	12	2.1833	26.20	2961068	*
555	Kitchen Supplie	Plastic Wrap, Self Clinging, 2000 foot roll, wide	12" MONOGRAM	1	roll	1	9.7000	9.70	4833935	*
556	Klitchen Supplie	Plastic Wrap, Self Clinging, 2500 foot roll, wide	18" MONOGRAM	1	roll	1	13.1200	13.12	4836169	
557	Kitichen Supplie	Plastic Wrap, Self Clinging, 2000 foot roll, wide	24" MONOGRAM	1	rofi	1	19.5000	19.50	4839577	
558	Kitchen Supplie	Film, 12"X12", perf, wrap, 3000/roll								
559	Kitchen Supplie	Film, 6"X5", perf, wrap, 3000/roll		57 发发症						
560	Kitchen Supplies	Food Storage Bag, 18"x24", Poly, 250 ct	MONOGRAM	250	case	1	13.8000	13.80	1703040	
561	Kitchen Supplies	Food Storage Bag, 10"x14", Poly, 1000 ct	MONOGRAM	1000	case	1	15,7800	15.78	1703271	
562	Kitchen Supplies	Waxed Paper, 12"x250", 12 rolls/cs								
563	Kitchen Supplies	Snap & Seal Bags Gallon 250 ct	HANDGARDS	250	case	1	18.3000	18.30		
564	Kitchen Supplies	Soap Pads 4"X4" 12/10 ct	MONOGRAM	10	case	12			7495427	
565	Kitchen Supplies	Scouring Pad Green 6X9 6/10 CT	MONOGRAMO			1	31.2000	31.20	2958791	
566	Kitchen Supplies	Bag Sandwich Fold Top 2000 ct	HANDGARDS	2000	case		5.4000	5.40	2949105	
567	Kitchen Supplies	Bouffant Caps 10/100 ct			case	1 -	15.8000	15.80	8004574	
568	Kitchen Supplies	Hair Nets 10/144 ct	FOOD HNDLR	100	case	5	31.0200	31.02	6378053	
		· · · · · · · · · · · · · · · · · · ·	#N/A	144	box	1	19.3000	19.30	9372301u	
569	Kitchen Supplies	Snap & Seal Bags 6X6 500 ct	HANDGARDS	500	case	1	13.8000	13.80	6379408	
570	Kitchen Supplies	Snap & Seal Bags Quart 500 ct	HANDGARDS	500	case	1	16.1000	16.10	6379424	
571	Kitchen Supplies	Aprons Plastic 30X46 100 ct	FOOD HNDLR	100	case	5	46.6000	46.60	9394719	
572	Kitchen Supplies	Bag Plastic T-Sack 11.5X6.5X22 1000 ct	SPECTRUM	1000	case	1	18.2000	18.20	3950334	
\rightarrow	Kitchen Supplies	Plastic Portion Cup Lids 20 OZ 20/125 CT	MONOGRAM	100	case	24	28.6000	28.60	2939346	
574	Kitchen Supplies	Grilli Screens 12 ct	MONOGRAM	20	box	1	3.2600	3.26	2950293u	*
575	Kitcheri Supplies	Grill Screen Holders 1 ct								
576	Kitchen Supplies	Grilli Bricks 12 ct	MONOGRAM	12	box .	1	1.4330	17.20	2948859	*
577	Kitchen Supplies	Aluminum Foil Sheets 9X10 3/4 6/500 ct	MONOGRAM	500	box	6	7.3033	43.82	3328259	*
578 F	Kitchen Supplies	Antibacterial Produce Wash 50/100 G		V 300		FOR THE				
579 K	(itchen Supplies	Aluminum foli 18x1000 heavy duty	MONOGRAM	1	roll	1	21.6200	21.62	5328299	*
580 K	litchen Supplies	Towel roll paper Household	PACKER	1	roll	30	0.6600	19.80	987792	

	T	Turner transfer and the second				1 40	45 0000	45.00	0000740 /	2,000
581	Kitchen Supplies	Napkins luncheon 12.5x11	GA PACIFIC	500	case	12	45.3600	45.36	9003716	
582	Kitchen Supplies	Napkins tall disp 7.2x13.5	HYNAP	250	case	40	37.6200	37.62	2003705	
583	Kitchen Supplies	Aluminum foil, Individuali Sheets 12"x10.25 pop up pack	MONOGRAM	200	case	1	4.2400	4.24	9328311u	
584	Meat, Canned	Chicken, Deluxe, Boned, 6/5 cans	HOME TASTE	48	lb	6	3.7244	67.04	891697	*
585	Meat, Canned	Corned Beef Hash, canned 6/10#	HOME TASTE	50	lb	12	2.0067	75.25	87080	
586	Meat, Canned	Salmon, Pink, 24/14.75	CHIX SEA	14.75	lb	24	3.2016	70.82	6141667	
587	Meat, Canned	Tuna, Chunk, Light, water or dry packed, 66.5 oz.	MONARCH	66.5	oz_	6	0.1422	56.74	3333770	
588	Meat, Packaged	Dried Chip Beef 3#	ESSKAY	3	lb	1	9.4730	28.42	7370950	
589	Meats	Beef Cube Steak 4 oz Solid Muscle 10#	CTLMN SLCT	4	lb	40	5.5000	5.50#	4688305	
590	Meats	Beef Patties 5/1 Pure 10#	CTLMN SLCT	3.2	lb	50	3.2300	32.30	9369703	
591	Meats	Beef Pattles 4/1 Pure 10#	CTLMN SLCT	4	lb	40	2.8800	28.80	2444859	*
592	Meats	Beef,Inside Top Round,Raw 3/20#	CARGILL	26	lp.	3	3.0600	3.06#	4979639	
593	Meats	Breakfast Sausage Links, 10#	HORMEL	10	lb	1	2.1900	21.90	2256626	
594	Meats	Pork Chops C.C. 4 OZ Boneless	PATUXENT	4	oz	40	0.2625	42.00	8336414	*
595	Meats	Pork Chops C.C. 4 oz Bone in	PATUXENT	4	oz	40	0.1881	30.10	7758824	*
596	Meats	Pork BBQ W/Sauce 2/5#	HORMEL	5	lb	2	3.7600	37.60	7376528	(A) (3)
		Beef BBQ W/Sauce 2/5#	HORMEL	5	lb	2	5.7100	57.10	9469131	10 mg
597	Meats		HORMEL				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	37.10	9409131	
598	Meats	Chicken BBQ W/Sauce 2/5#	Badilitan di A	40	Districts 2 4 m fr		0.0700	0.074	7000400	
599	Meats	Turkey Breast Boneless In Foil 2/APX10#	PATUX PREM	10	lb_	2	2.8700	2.87#	7833189	*
600	Meats	Kielbassi 5/1 10#	PATUXENT	2	lb ·	5	2.3840	23.84	7358229	
601	Meats	Pepperoni Sliced Beef Only 25#	ROSELI	12.5	lb	2	3.5500	88.75	8329674	· Land Valence
602	Meats	Hard Salami Sliced 2/5#	HORMEL	2	lb_	6	4.3420	52.10	6131882	
603	Meats	Bologna Beef Unsliced Rolls 4/5#	HORMEL	8	lb	1	3.2500	3.25#	6980825	
604	Meats	Bologna All Meat Sliced 12#	HORMEL	2	lb	6	2.6330	31.60	8416828	
605	Meats	All Beef Weiners 8/1 10#	PATUXENT	10	lb	1	2.5100	25.10	1632758	*
606	Meats	All Beef Weiners 10/1 10#	PATUXENT	10	lb		2.5100	25.10	8685424	*
607	Meats	Pizza Sausage Topping Ckd 2/5#	HORMEL	5	1b	2	2.0600	20.60	6196745	*
608	Meats	Beef Stew Meat 2/5#	CTLMN SLCT	10	lb	1	4.6400	46.40	3820673	
609	Meats	Meatballs Ckd All Beef 1 OZ 10#	ROSELI	5	oz	2	0.1797	28.75	1329200	*
610	Meats	Beef Pattle Cooked 4/1 10#	ADVANCE	2.5	lb	90	2.9787	41.88	2140085	*
611	Vleats	Combo Pack Lunchmeat 12#	JENNIE-O	1	lb	12	2.8080	33.70	9173592	
612	Vleats	Beef Fajita Strips Raw 10#	SMART SERV	5	oz	2	0.3456	55.30	4368346	
613	Veats	Pork Chops 4-5 OZ Cut end to end	PATUXENT	4	lb	40	3.0100	30.10	7758824	
614 N	Vleats	Pork Country Styly Ribs Bone In 2/6#	CHGO MEATS	5.5	lb	29	2.5000	25.00	3297611	*
615	Meats	Pork Country Sausage Bulk 6/5#	RUDYS FARM	6	lb	4	3.1200	74.88	1079540	
616 N	/leats	Boneless Beef ShortT Ribs Raw 2/6#								
617 N	Meats	Bacon Precooked 300 Sile	PATUXENT	2.4	lb .	1	13.7000	32.88	3649605	
618	deats I	Bacon Sliced Layout 18/22 15#	SUGARDALE	15	lb	1	2.0867	31.30	6003263	*
619 N	/leats	Deli Ham 4X6 10% 12.5#	ORMEL	13	lb	1	1.6669	21.67	2007110	*
620 M	Meats :	Sliced Deli Ham 4/3#	ORMEL	2	lb	6	3.5250	42.30	9340738	
621 №	fleats 5	Sliced Turkey Breast 4/3#	ENNIE-O	2	lb	6	4.4400	53.28	9168931	*
622 M	leats 5	Sliced Roast Beef 4/3#	ORMEL	2	lb	6	6.0133	72.16	8118242	*
623 M	leats S		IORMEL	2	lb **(\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	6 170,360 (1020)	6.1000	73.20	4207247	* Zuspielys Die
624 M								Estav, Michael		
			ORMEL	10	lb 	4	2.4518	98.07	2103398	
			ATUXENT	6	lb	2	4.7800	4.78#	5767140	*
627 M	leats E	Brt Beef Chuck Roast Raw 3/6#	3P	16	lb	4	3.2900	3.29#	2372068	*

	628 Meats	Beef Pot Roast Cooked 2/9#	PATUXEN	т 10	D III	1	4.06	20 40.6	32 241155	11 *
	629 Meats	Turkey Breast 3 Pc Cooked 2/9#	PATUXEN	г 9	Ib		3.25	_		
*	30 Meats	Turkey Burger 4 oz Raw 10#	JENNIE-O	5.3					·	
	331 Meats	Turkey Sausage Patty 2 oz Raw 10#	JENNIE-O	1,6						A 10 10 10 10 10 10 10 10 10 10 10 10 10
	332 Meats	Hoagie Patty Beef 3/1 Raw 10#	KARN	5.3						St. 11.2
	33 Meats	Italiam Sausage Raw Bulk 2/5#	医细胞				0.00-	-0 30.0	136976	
\vdash	34 Meats	Italian Sausage Links 4/1 Raw 2/5#	ROSELI	10	lb	1	2.820	0 20 2		2.00
	35 Meats	Chicken Breast Split Bone In Raw 4/10#		\neg		48				1. 1. 1. 1. 1.
	36 Meats	Chicken Drumsticks Raw 4/10#	TYSON	21		1	2.756			
\vdash	37 Meats	Chicken Thigh Bone In Raw 4/10#					2.543			\$3.5 \$
		Chicken Breast Breaded Fillet Fritter 4 o	PATUXENT	1		1	1.650			12 1 2 3 3 3 3
					OZ	2	0.259			17.50
63		Chicken Breast Breaded Hot N Spicy 4 of		-	OZ.	40	0.315			
64		Chicken Breast Cooked Fillet 3 oz 10#	ZARTIC	3	lb lb	56	3.201	9 33,62	1068949	* ************************************
64		Brt Pork Loin 2/APX10#	#N/A	9	lb lb	2	2.6600	2.66#	6198454	
64	2 Meats	Bacon Bits Real 3/8" 2/5#	RYT-WAY	1	lb	6	9.0583	3 54.35	1710052	
64		Beef Liver Unbreaded Portion Cut 10#cs	ROCHESTER	4	lb_	40	2.8200	28.20	9005158	*
64		Chicken Livers Unbreaded 10#cs	PATUXENT	10	lb	4	0.7200			
64		Puree Pork 12/15 oz.				<u> </u>		Staffar (Stage)		
64		Puree Turkey 12/15 oz. Puree Chicken 12/15 oz.	SIMPLY SRV	15	0Z	12	0.2556	- 	6353346	
648		Puree Beef 12/15 oz.	SIMPLY SRV	15	OZ.	12	0.1656		5339973	Nager Constr
649		Chicken & Dumplings 6/#10	HOME TASTE	15 48	lb	12	0.3244		4339974	*
650		Chicken Tenderloin Fritter 10#	TYSON	5	lb lb	2	3.0020	64.48	871707	100000000000000000000000000000000000000
651		73/27 Frozen Ground Beef	CTLMN SLCT	10	ib	8	2.1200	30.02 2.12#	5997135	
652	 	Animal Crackers, 10#/cs	KEEBLER	10	ib.	1	0.1356	21.69	2099893	
653	Miscellaneous	Butter Buds, 24/4 oz	BTTER BUDS	4	0Z	24	0.3842	36.88	2076032	*
654	Miscellaneous	Combread Pan Style Stuffing, 8/2.5 #	UNCLE BENS	56	lb	6	3.3819	71.02	3997096	*
655	Miscellaneous	Croissants, Split Sandwich Size, 2.5 oz	CHEFPIERRE	2.25	0z	150	0.1667	56.02	2419596	*
656	Miscellaneous	Croutons, 10#/cs	MONARCH	2		"		-		*
					case	5	18.7100	18.71	5610514	
657	Miscellaneous	Crumbs, Corn Flake, 12/21 oz	KELLOGG'S	21	OZ	12	0.1556	39.20	9204215	
658	Miscellaneous	Drinking Water, 16 oz	THIRSTER	16.9	OZ	24	0.0126	5.10	779991	
659	Miscellaneous	Drinking Water, 1 gallon	And the							
660	Miscellaneous	#30 Ice Cream Cones F/Dispenser	JOY CONE	15	lb	12	4.0254	44.32	9277708	
661	Miscellanous	Mexican Blend Rice 6/25.9 oz	MONARCH	36	oz	6	0.1263	27.28	4411450	
		Minced Garlic Waterpack 12/qt (Christopher	,							
662	Miscellaneous	Ranch Brand) or equal	ROSELI	32	oz	6	0.1263	24.24	9330671	*
663	Miscellaneous	Mixed Nuts, 6/2.25#	MONARCH	2	lb.	3	11.8600	71.16	8885998	*
664	Miscellaneous	Molasses, 4/1 gal	MONARCH	1	gai	4	10.6100	42.44	3737319	
665	Miscellaneous	Olive Oil, 4/1 gal	ROSELI	1	gal	6	12.0530	72.32	8680670	
666	Miscellaneous	Pasta Sauce, made w/olive oil, 6/#10	MON-D	10	lb lb	6	0.6688	26.31	4352191	*
667	Miscellaneous	Peanut Butter Cups 200/.75 oz	MONARCH	0.75	02	200	0.0174	26.97	4969739	*
668	Miscellaneous	Pizza Sauce Fully Prepared 6/#10	MON-D	10	lb	6	0.6272	24.22	3328143	*
669	Miscellanous	Rice Long Grain & Wild Garden Blend	MONARCH	36	lb	6	2.1896	29.56	5638051	*
670	Miscellanous	Rice Pilaf 6/36 oz.	MONARCH	36	OZ	6	0.1135	24.52	5637889	*
671	Miscellaneous	Splenda, 12/16 oz	SPLENDA	9.7	0Z	8	0.8972	69.62	7917180	
672	Miscellaneous	Topping, Butterscotch, 6/ 1/2 gal	MONARCH	5	gal	6	5.9167	35.50	3327657	*
373	Miscellaneous	Topping, Carmel, 6/ 1/2 gal	MONARCH	5	gal	6	5.9167	35.50	5327655	*
374	Miscellaneous	Tortilla Shells, Flour, 12 inch	DELPASDO	12	eas	12	0.2604	37.50	2823482	*
75	Miscellaneous	Cheese Nips 100 cal snack 72 ct	CHEEZ-IT	0.75	case	175	44.4600	44.46	7612294	*
	Miscellaneous	Lorna Doone 100 cal snack 72 ct	LORNADOONE	1	case	120	38.0500	38.05		*
	Miscellaneous	Oreo 100 cal snack 72 ct	OREO		<u> </u>				8013021	
				0.81	case	72	31.3700	31.37	1497296	
	/liscellaneous	Tuna Snack Size 24/2.6 oz pouches								
79 N	/liscellaneous	Granlate Potato 6/5.3 lbs	MONARCH	5.31	lb	6	1.2153	38.72	8552663	*
80 N	lisc Sauces	Wing Sauce Mild 4/1 Gai	KEN'S	1	ga!	4	10.2675	41.07	7374192	*

	1		1		T	1	T	T	T	1.60
681	Misc Sauces	Sweet N Sour Sauce 2/1 Gal	KRAFT	1	gal	2 _	16.8000	33.60	48702	
682	Misc Sauces	Alfredo Sauce Mix 6/16 oz	PIÓNEER	16	02	6	0.4100	39.36	5250840	
683	Misc Sauces	Cheddar Cheese Sauce Mix 6/29 oz	TRIO	32	oz	8	0.2765	70.78	1009976	STAN AND
684	Pasta	Angel Hair Spaghettl, 20#/cs	ROSEL!	10	case	2	22.3200	22.32	7327836	*
685	Pasta	Bowtle Macaroni, 10#/cs	ROSELI	5	case	2	7.5900	7.59	4328951	*
686	Pasta	Elbow Macaroni, 20 lbs	HARVEST VL	10	lb	2	0.6655	13.31	993063	
687	Pasta	Fettuccini, 10#/cs	ROSELI	10	case	1	10.6400	10.64	7327661	
688	Pasta	Linguine, 10#/cs	ROSELI	20	case	1	21.3100	21.31	1327675	
689	Pasta	Med. Egg Noodles, 10 lbs	HARVEST VL	5	lb	2	1.3350	13.35	990481	
690	Pasta	Penne Pasta, 20#/cs	ROSELI	10_	case	2	13.3100	13.31	3327806	
691	Pasta	Rigatoni, 10 lbs	ROSELI	10	dí	2	0.6655	13.31	1327949	*
692	Pasta	Rotini, 10 lbs	ROSELI	10	lb	2	0.7405	14.81	1328046	
693	Pasta	Rotini, Tri-Color	ROSELI	10	lb	2	0.9140	18.28	2328805	
694	Pasta	Salad Macaroni, 10 lb	CROSS VALY	8	lb	2	1.2250	19.60	421990	*
695	Pasta	Short Lasagna, 10 lbs	HARVEST VL	10	lb	1	1.3900	13.90	997569	
696	Pasta	Spaghetti, 19", 20 lb package	HARVEST VL	10	lb	2	0.6655	13.31	997692	3 43 4
697	Pasta	Wide Egg Noodles, 10 lbs	ROSELI	5	lb	2	1.3780	13.78	6328678	
698	Pasta	Elbow Macaroni Whole Grain (PLUS)	BARILLA	10	lb lb	2	1.3670	27.34	7720592	
699	Pasta	Rotini Whole Grain (PLUS)	ROSELI	10	lb dl	2	1.3670	27.34	3327806	
		Salad coleslaw	CROSS VALY	7	lb	2	1.2371	17.32	421925	*
700	Pasta	1.	1			2		11.88	5463252	*
701	Pasta	Salad potato	RESER'S	5	lb lb		1.1880	11.00	5463252	
702	Pudding, Canned	Pudding Mix, Ready to Use, Banana, 6/#10	MONARCH	10	lb	6	0.5776	24.24	7327315	*
703	Pudding, Canned	Pudding Mix, Instant, Butterscotch, 12/24 oz	HOSPITALTY	24	0Z	12	0.0826	23.80	1378215	
704	Pudding, Canned	Pudding Mix, Ready to Use, Chocolate, low calorle, 24/3.4 #								
705	Pudding, Canned	Pudding, Ready to Use, Lemon, 6/#10	MONARCH	10	lb	6	0.6288	, 26.38	9327313	*
706	Pudding, Canned	Pudding Mix, Ready to Use, Lemon, 12/2#	MONARCH	24	lb	12	1.5694	28.25	9370651	*
707	Pudding, Canned	Pudding, Ready to Use, Tapioka, regular, 6/#10	MONARCH	10	Ib	6	0.6544	27.48	3327319	*
708	Pudding, Canned	Pudding Mix, Instant, Pistachio, 12/24 oz							fing to record.	
709	Pudding, Canned	Pudding Mix, Instant, Vanilla Taploca, 12/24 oz								
710	Pudding, Canned	Pudding Mix, Ready to Use, Vanilla, Diet 24/3.4								
711	Pudding, Canned	Pudding Mix, Regular, Ready to Use, Butterscotch, low calorie, 24/3.4								
712	Pudding, Canned	Pudding, Ready to Use, Butterscotch, 6#10	MONARCH	10	lb	6	0.5952	24.75	6327316	*
713	Pudding, Canned	Pudding Mix, Regular, Ready to Use, Butterscotch, Diet, 12/2#								
	Pudding, Canned	Pudding Mix, Regular, Chocolate, 6/5#	HOSPITALTY	24	lb	12	1.4378	25.88	4088514	*
	Pudding, Canned	Pudding Mix, Regular, Ready to Use, Chocolate, 6#10	MONARCH	10	lb	6	0.6064	25.27	1327329	*
• • •						·				
716	Pudding, Canned	Pudding Mix, Regular, Lemon, 6/5#	MONARCH	24	lb	12	1.5694	28.25	9370651	*
717	Pudding, Canned	Pudding Mix, Regular, Vanilla, 6/5#	HOSPITALTY	24	lb	12	1.3222	23.80	5088513	*
718	Pudding, Canned	Pudding, Ready to Use, Rice 6/10#	MONARCH	10	lb	6	0.6880	28.64	2327328	*
719	Pudding, Canned	Pudding, Ready to Use, Vanilla, 6/#10	MONARCH	10	lb	6	0.5824	24.25	4327318	*

7.	20 > Pudding/Gela	Gelatin, Assorted Flavors, 6 oz containe	r MONARCH	24	02	.12	0.0906	26.10	5343371	
7:	21 Pudding/Gela	dins Gelatin, Raspberry, 6/4.5#	MONARCH	24	lb	12	1,3917	25.05	8370660	*
72	22 Pudding/Gela	tins Gelatin, Cherry, 6/4.5#	MONARCH	24	ib	12	1.3917	25.05	8370322	
72	23 Pudding/Gelat	tins Gelatin, Cherry, 12 oz. bags	MONARCH	24	02	12	0.0870	25.05	8370322	*
72	4 Pudding/Gelat	Gelatin, Dietetic, Artificially Sweetened, A Fruit Flavors, 18/2.6 oz	sst. MONARCH	2.75	oz	18	0.9879	48.90	1371590	
72	5 Pudding/Gelati	ins Gelatin, Lime, 6/4.5#	MONARCH	24	lb	12	1.3917	25.05	6370662	
720	6 Pudding/Gelati	ns Gelatin, Orange, 6/4.5#	MONARCH	24	lb	12	1.3917	25.05	1328848	
727	7 Pudding/Gelatir	Gelatin, Strawberry, 6/4.5#	MONARCH	24	dl	12	1.3917	25.05	9370669	
728	Pudding/Gelatin	Gelatin, Unflavored, 1 lb. bags								
729	Pudding/Gelatin	Pudding Mix, (Mix with Milk) Butterscotch, 6/5#	HOSPITALTY	24	lb	12	1.3750	24.75	1378215	*
730	Pudding/Gelatin	s Pudding, Butterscotch, RTU 48/4 oz cups	REAL FRESH	3.5	case	48	15.6000	15.60	5476809	
731	Pudding/Gelatin	Pudding, Chocolate, RTU 48/4 oz cups	REAL FRESH	3.5	case	48	15.6000	15.60	5461769	
732	Pudding/Gelatins	Pudding, Vanilla, RTU 48/4 oz cups	REAL FRESH	3.5	case	48	15.6000	15.60	2461770	
733	Potatoes	Diced Fresh Potatoes 2/10#	CROSS VALY	10	lb	2	0.8870	17.74	8343956	
734	Potatoes	Sliced Fresh Potatoes 2/10#	CROSS VALY	10	lb	2	0.8870	17.74	1488212	12.77
735	Potatoes	Potatoes Mashed Fresh 2/10#	CROSS VALY	6	lb	4	1.2300	29.52	7488174	
736	Snack	Super Doughnuts (CN Label)	SUPER BK	2.2	case	80	26.4000	26.40	2043909	
737	Snack	Chocolate Doughnuts (CN Label)								
738	Snack	Danish, Asst. wrapped, 24/2.8 oz	SUPER BK	2.5	oz	48	0.0203	24.76	9224569	*
739	Snack	Peanuts, bleached, shelled, roasted, salted, vacuum packed, 6/2.5#	HOMERUN	2.37	lb	6	3.6948	52.54	974113	*
740	Snack	Cookies, Fig Newton, I.W. 1 oz	FIG NEWTON	1	0Z	120	0.3718	44.62		
	Snack	Cookies, Lorna Doone, 120/4ct							9028655	
			LORNADOONE	1	Case	120	26.0100	26.01	8013021	
	Snack	Cookies, Oreo, 2 ct, 120/.66	OREO	0.78	case	120	23.6400	23.64	3208931	
743	Snack	Corn Chips, Bulk Pack	FRITOS	16	case	8	15.9400	15.94	7271 77 8	
44	Snack	Crackers, Graham, Individual pks, 150/3 ct	NABISCO	3	case	150	18.8400	18.84	2013027	
45	Snack	Crackers, Oyster, 150/0.5 oz	MONARCH	0.5	case	150	17.2700	17.27	7946064	
46	Snack	Crackers, Saltine, 6# bulk pack Crackers, Saltine, 500 individual wrapped 2	KEEBLER	10	lb.	1	3.1410	31.41	5017025	
47 5	Snack	pack	MONARCH	2	case	500	16.7100	16.71	7945967	
48 S		Crackers, Wheat, Lite, 500 individual wrapped 2 pack	KEEBLER	2	case	300	22.6400	22.64	8003980	
19 S	nack	Milk & Cereal Bars, Cocoa Puff, 1.4 oz, General Milts, 12931	GENL MILLS	1.42	case	96	28.8000	28.80	6963524	
0 s	nack		GENL MILLS	1.42	case	96	28.8000	28.80	6963490	2.00
1 S		Honey Nut Chex Mix, 1.75 oz., General Mills, 19909	CHEX	1.75	case	60	22.0800	22.08	1387018	
2 Sr	nack	Milk & Cereal Bars Honey Nut Cheerios	GENL MILLS	1.42	case	96	28.8000	28.80	6963581	
3 Sn			DELPASDO	2	case	6	17.2600	17.26	7463706	
4 Sn		Potato Chips, Natural Baked, Low Fat, 200 and Vidual wrapped 2 oz packet	BAKED LAYS	1.125	case	64	31.9600	31.96	5585476	

755	Snack	Potato Chips, Regular, 200 individual wrapped 2 oz packet	LAYS	1	lb ·	104	0.3400	35.36	9315128	
756	Snack	Potato Chips, Regular, 3 to 4 lb pack	RUFFLES	16	lb	8	2.5775	20.62	5907282	
757	Snack	Potato Chips, Barb-b-que, 3 to 4 lb pack								
758	Snack	Pretzel, Bulk Pack	ROLD GOLD	16	case	6	10.3000	10.30	416354	
759	Snack	Pretzel, Baked, Low Fat, 200 individual wrapped 2 oz packet	ROLD GOLD	1	case	88	29.9200	29.92	6513410	
760	Snack	Regular, Corn Chip, 200 individual wrapped 2 oz packet	FRITOS	1	lb	104	5.4400	35.36	5513429	
761	Snack	Rice Krispie Treats, 192/ .78 oz	KELLOGG'S	0.78	. oz	96	0.3710	27.78	4635918	*
762	Snack	Sunflower Seeds, 10#	MONARCH	2	lb	3	3.5900	21.54	8884934	
763	Snack	Wafers, Vanilia, 12/10 oz	NABISCO	13.3	oz ·	6	0.1219	9.75	8277220	*
764	Snack	Fruit Bars Strawberry 48/1.3 oz	KELLOGG'S	1.55	oz	96	0.2323	34.56	2683902	
765	Snack	Fruit Bars Apple 48/1.3 oz	AUSTIN	1.55	0Z	96	0.2323	34.56	7994312	
766	Snack	Peanut Butter & Cheese Crackers 45/6CT	AUSTIN	1,37	case	96	25.7600	25.76	7994312	
767	Snack	Salad Crackers 400/2 Pk	MONARCH	2	case	500	19.2500	19.25	7945926	
768	Snack	Ritz Crackers 300/2 Pk	KEEBLER	2	case	500	43.8600	43.86	2150308	
769	Ѕласк	Pop Tarts Blueberry	KELLOGG'S	2	case	72	39.9200	39.92	9206418	
770	Snack	Pop Tarts Strawberry	KELLOGG'S	2	case	72	39.9200	39.92	1206424	
	Snack	Pop Tarts Apple Cinnamon	KELLOGG'S	2	case	72	39.9200	39.92	4207338	
	Snack	Peanut Butter & Jely Sandwich Crustless 2.8	PBJAMICH	2.8	case	72	38.9200	38.92	378885	*
	Soup	Soup Base Beef, Paste, No MSG 12/1#	HARVEST VL	16	lb	12	2.3067	27.68	5328885	*
			HARVEST VL	16	lb	12	2.2675	27,21	3328887	
	Soup	Soup Base, Chicken Paste, No MSG, 12/1#					0.1923			*
775	Soup	Soup Base, Cream, 6/28 oz	MONARCH	28	0Z	6		32.30	8502080	*
776	Soup	Soup Base, French Onion, Dry, 6/21 oz.	CHEF'S OWN	8	oz	12	0.2657	44.60	2030872	
777	Soup	Soup Base, Vegetable, Paste, No MSG, 6/1#	MOLLYS KIT	1	lb	6	4.8600	29.16	9333493	*
778	Soup	Beef Broth	HOME TASTE	49	lb	12	0.7800	28.96	871657	
779	Soup	Chicken Broth	HOME TASTE	49	lb	12	0.7472	27.46	871665	
780	Soup		HEINZ	51	oz	12	0.0581	35.56	4002374	
781	Soup		CAMPBELL	7.25	oz	24	0.1140	19.84	5001987	# Unit factor of
782	Soup	Cream of Mushroom, 12/50 oz	HEINZ	51	OZ	12	0.0650	39.80	8002370	
783	Soup	Cream of Potato 12/50 oz	HEINZ	50	oz	12	0.0709	42.56	1008929	*
784	Soup	Cream of Tomato 12/50 oz.	HEINZ	51	0Z	12	0.0490	29.96	3002383	*
785	Soup	Cream of Tomato 24/7 oz	CAMPBELL	7.25	οz	24	0.1158	20.15	3001989	# Banker) je sak
786	Soup	New England Cham Chowder 12/50 oz								
787	Soup	Soup Cream of Celery 12/50 oz	HEINZ	50	oz	12	0.0631	37.86	6008916	
788	Soup	Soup Cream of Chicken 12/50 oz	HEINZ	50	oz	12	0.0669	40.15	9008913	*
789	Soup	Soup Vegetable Beef 12/50 oz	HEINZ	50	OZ.	12	0.0960	57.59	3008919	
790	Soup	Soup Tomato Low Soup Tomato Low Sodium 12/50 oz	CAMPBELL	50	oz	12	0.0778	46.68	1005149	
791	Soup	Chili W/Beef & Beans Frozen 4/5#	WHITYWNDSR	5	lb	4	2.9165	58.33	2372928	

792	Soup	Beef Stew W/ Vegetables 6/#10	HOME TASTE	106	lb	6	2.3260	92.46	83055	*
793	4.	Chicken Noodle Low Sodium 12/50 oz	CAMPBELL	50	OZ.	12	0.1167	70.02	3000239	*
'794	Spice/Seasoni	ng Allspice, Ground, 16 oz container	MONARCH	16	oz	1	0.5775	9.24	760553	
795	Spice/Seasoni	ng BBQ Spice 24 oz								
796	Spice/Seasoni	ng Basil Leaves 16 oz	MONARCH	5.5	oz	1	0.8091	4.45	760041	
797	Spice/Seasonii	ng Bay Leaf, Dry, 2 oz container	MONARCH	2	oz	1	4.4750	8.95	3449311	
798	Spice/Seasonia	ng Burrito Seasoning			4					
799	Spice/Seasonir	ng Cajun Seasoning, 22 oz	MONARCH	22	oz	1	0.4841	10.65	778415	
800	Spice/Seasonin	g Celery Seed, 16 oz	MCCORMICK	16	OZ	1	0.5450	8.72	1001460	
801	Spice/Seasonin	Chili Powder, Ground, 16 oz container	MONARCH	18	oz	1	0.3506	6.31	760116	
802	Spice/Seasonin									
803	Spice/SeasonIn		MONARCH	1	OZ.	1	4.2300	4.23	760140	*
804	Spice/Seasoning			16	1	_		-	760140	
			MONARCH	 	OZ	1	0.9081	14.53	760678	
805	Spice/Seasoning		MONARCH	18	OZ.	1	0.3578	6.44	5353115	
806	Spice/Seasoning	, , , , , , , , , , , , , , , , , , , ,	MONARCH	32	OZ	1	0.4547	14.55	760207	
807	Spice/Seasoning	Cumin, ground, 16 oz	MONARCH	16	OZ	1	0.5100	8.16	760629	
808	Spice/Seasoning	Dill Weed 5 oz	MONARCH	5.5	oz	1	1.5873	8.73	778423	
809	Spice/Seasoning	Garlic Powder, 19 oz container	MONARCH	21	oz	1	0.3776	7.93	2501161	
810	Spice/Seasoning	Granulated Garlic 20 oz	MONARCH	24	oz	1	0.3646	8.75	760264	
811	Spice/Seasoning	Ginger, 16 oz	MONARCH	15	OZ.	1	0.6653	9.98	760306	*
812	Spice/Seasoning	Italian Seasoning, 1#	MONARCH	28	lb	1	10.6686	18.67	760991	
813	Spice/Seasoning	Lemon & Pepper seasoning, 23 oz	MONARCH	28	0Z	1	0.3240	9.07	6501159	*
814	Spice/Seasoning	Lowery Seasoning Salt 5#	LAWRY'S	5	lb	1	3.1700	15.85	9032418	٠
815	Spice/Seasoning	Mrs. Dash, Individual, 300 ct	MRS DASH	500	case	1	38.0600	38.06	8663155	
816	Spice/Seasoning	Mustard, dry, ground, 16 oz	MONARCH	15	oz	1	0.2893	4.34	760348	
817 8	Spice/Seasoning	Nutmeg, Ground, 16 oz container	MONARCH	16	oz	1	0.7138	11.42	760355	
818	Spice/Seasoning	Onion Powder, 20 oz	MONARCH	20	oz	1	0.2440	4.88	4353280	*
	Spice/Seasoning	Oregano, Leaf, Dried, 5 oz container	MONARCH	5	oz	1	1.0020	5.01	760397	
	pice/Seasoning	Paprika, 16 oz	MONARCH	18	oz	1	0.4750	8.55	760587	
	pice/Seasoning	Parsley Flakes, 10 oz	MONARCH	11	OZ.	1	0.8718	9.59		
	pice/Seasoning	Pepper, Black Ground, 1 lb container	MONARCH	18	lb	1	9.3717		760868	
	pice/Seasoning	Pepper, Red, Ground, 16 oz		16		1		10.59	6501175	*
	pice/Seasoning		MONARCH		oz	1	0.3931	6.29	760611	
		Pickling, 20 oz	MONARCH	14	ΟZ	1	0.4771	6.68	760645	
	pice/Seasoning	Poultry Seasoning, 12 oz	MONARCH	10	oz	1	0.6920	6.92	760595	NOTES (SE
	pice/Sessoning	Rotisserie Seasoning, 20 oz.	MONARCH	25	OZ.	1	0.4368	10.92	7501216	*
	ice/Seasoning	Salf Free Seasoning, 20 oz.	LAWRY'S	20	oz	1	0.7900	15.80	9539594	
28 Sp	nice/Seasoning	Six Pepper Blend, 26 oz.	MONARCH	22	0Z	1	0.5627	12.38	8353450	*
29 Sp	ice/Sessoning	Sage, Dried, 6 oz container	MONARCH	-6	02	1	1.2150	7.29	760603	
30 Sp	ce/Seasoning	Steak Seasoning, 26 oz.	MONARCH	26	OZ	1	0.2962	7.70	778431	.
31 Sp	ice/Seasoning	Taco Seasoning, 10 oz	MONARCH	21	oz.	1	0.2600	5.46	324251	*
		The occupating, 19 dz	INOTES CONT		OZ.	· · · · · · · · · · · · · · · · · · ·	0.2000	5.40	324231	
32 Spi	ce/Seasoning	Seasoning, Taco, approx 6.5 lb cont	DELPASDO	5	lb	1	2.8240	14.12	5333216	*
33 Sp!	ce/Seasoning	Sauce, Taco, Mild, approx 4/1 gallon cont	DEL PASADO	138	lb	4	0.9983	34.44	2945954	
34 Spi	ce/Seasoning	Thyme, Dried, 7 oz container	MONARCH	7	oz	1	0.9200	6.44	760694	
5 Spi	ce/Seasoning	Pepper Shakers 48/1.5 oz	MONARCH	1.5	oz	48	0.5569	40.10	6492672	
6 Spid		Salt Shakers 48/1.5 oz Asparagus, Cut Spears, Water Packed, Salt	MONARCH	4	OZ .	48	0.0588	11.28	5492673	*
7 Veg		Asparagus, Cut Spears, Water Packet, Sait 3 Sugar Free, 12/303 container								
8 Veg	, Canned I	Beans, Baked,	BUSHS BEST	10	case	6	37.0500	37.05	6023360	
9 Veg	, Canned E	Beans,Butter,Large 6/#10	MONARCH	10	lb	6	0.7248	30.46	8330151	*
0 Veg	, Canned E	Beans, Pork &	MON-D	10	lb	6	0.4880	20.86	9330127	*
1 Veg	, Canned E	Beans, Black, Grade A Fancy 6/10#	EL PASADO	10	lb	6	0.4784	20.12	9332313	•
\top										
2 Veg.	Canned E	leans, Garbanzo, (Chic Peas), approx 6/10's	MON-D	10	lb	6	0.4944	20.21	9330168	* [

		Barra Corre Cuta Mater Barked Call 8	1	1		1	T	T	T	
843	Veg, Canned	Beans, Green, Cuts, Water Packed, Salt & Sugar Free, 24/303	ALLEN	10	lb v	6	0.7408	27.78	4223418	
844	Veg, Canned	Beans, Green, Puree, Satt & Sugar Free, 12/303 container	STOKELY	300	lb	24	1.1280	24.55	7994189	*
845	Veg, Canned	Beans, Green, String less, (Minimum 1.5" cut length), 5 Sieve, U.S. Grade A Fancy, approx 6/10's								
846	Veg, Canned	Beans, Green italian 6/#10	ALLEN	10	lb	6	0.6416	24.28	7029267	
847	Veg, Canned	Beans, Green 6/#10	HARVEST VL	10	lb	6	0.5136	20.23	4330270	
848	Veg, Canned	Beans, Kidney, Light Red, in Brine, U.S. Grade A Fancy, approx 6/10's	EL PASADO	10	lb	6	0.5920	23.76	3332335	*
849	Veg, Canned	Beans, Lima, Green & White, Medium or Ungraded for size, U.S. Grade B Extra Standard, approx 6/10's								
850	Veg, Canned	Beans, Refried, 6/#10	EL PASADO	10	1b	6	0.6384	26.84	7332349	*
851	Veg, Canned	Beans, Refried, Vegetarlan 6/#10	EL PASADO	10	lb	6	0.6384	26.80	2332351	*
852	Veg. Canned	Beans, Lima 6#10	MONARCH	10	lp	6	0.7072	29.71	5886940	×
853	Veg, Canned	Beans, Wax, String less, Cuts (Max. 1.5" cut length), 5 sieve, approx 6/10's	MON-D	10	lb	6	0.8720	33.05	6330138	
854	Veg, Canned	Beets, Cut, U.S. Grade B, approx 6/10's	MON-D	10	lb	6	0.9200	36.20	7330129	
855	Veg. Canned	Beets,Cut,Pickled Grade B 6/#10								
856	Veg, Canned	Beets, Diced, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.8192	31.94	5330097	
857	Veg. Canned	Beets,Diced,Pickled,US Grade A 6/#10								
858	Veg, Canned	Beets, Sliced, Medlum, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.7552	29.44	8330094	
859	Veg. Canned	Beets,Sliced,Pickled,Medium,US Grade A 6/#10	MONARCH	10	lb	6	0.8720	35.34	7330129	
860	Veg, Canned	Beets, Whole, Tiny, 150 - 180 ct, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.8384	33.35	6328629	
861	Veg. Canned	Beets, Whole, Pickled, Tiny 150 - 180 ct, US Grade A Fancy 6/#10								
862	Veg, Canned	Carrots, Diced, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.7312	27.44	5330162	
863	Veg, Canned	Carrots, Sliced (approx 1.5" diameter or larger), U.S. Grade A Fancy, approx 6/10's	MON-D	10	1b	6	0.5088	20.42	7330160	
864	Veg, Canned	Carrots, Sliced, Water Packed, Salt/Sugar Free, 12/303's containers								
865	Veg. Canned	Peas & Carrots, 6/#10	MONARCH	10	lb	6	0.9760	38.77	5352349	
866	Veg, Canned	Corn, Cream Style, Golden, U.S. Grade A Fancy, approx 6/10	MON-D	10	lb	6	0.8448	33.55	8330086	
867	Veg, Canned	Corn, Puree, Salt & Sugar Free, 12/303's								
868	Veg, Canned	Corn, Whole Kernel, Yellow, U.S. Grade B, approx 6/10's	MONARCH	10	lb	6	0.5968	23.48	6330146	
869	Veg, Canned	Greens, Collard, Chopped U.S. Grade B Extra Standard, approx 6/10's	ALLEN	10	!b	6	0.6896	25.88	8079006	
870	Veg, Canned	Greens, Mustard, Chopped, U.S. Grade B Extra Standard, approx 6/10's	ILLEN	10	lb	6	0.6896	25.88	5072301	
	Veg, Canned	Hominy, Whole, U.S. Grade A Fancy, approx 6/10's WHITE	LLEN	10	lb	6	0.6480	24.30	6198410	
	Veg, Canned	Kale, Chopped, U.S. Grade B Extra Standard, approx 6/10's	LLEN		di		0.6896	25.88	8072308	
	Veg, Canned	Mushrooms, Stem & Pieces, U.S. Grade B Extra Stand, 24/16 oz	4 PREMIUM	16	0Z	24	0.1576	60.52	1333699	

874	Veg. Canned	Peas, Black Eyed, 6/#10								
2 875	Veg, Canned	Peas, Mixed Sieve, U.S. Grade B Extra Standard, approx 6/10's	MONARCH	10	lb	6	0.8688	34.22	932941	В
876	Veg, Canned	Peas, Small Green, Salt & Sugar Free, 6/ container	10							
877	Veg, Canned	Peppers, Green, Diced, U.S. Grade B Ext Standard, approx 24/303	ra MON-D	300	lb	24	1.7632	38.34	932649	
878	Veg, Canned	Peppers, Sweet Green Halves, (approx 25/can), U.S. Grade A Fancy, approx 6/10	's MONARCH	10	lb	6	0.9120	35.92	9330010	, *
879	Veg, Canned	Peppers, Sweet-Bell-Red, Diced, U.S. Gra B Extra Standard, approx 6/10's	MON-D	300	lb	24	1.7856	38.82	5326491	
880	Veg, Canned	Potatoes, diced, 6/#10	MON-D	10	lb	6	0.7904	30.22	3330040	
881	Veg, Canned	Potatoes, sliced, 6/#10	MON-D	10	lb	6	0.8000	30.30	4330049	
882	Veg, Canned	Potatoes, White, Whole, Peeled, 100-over U.S. Grade A Fancy, approx 6/10's	ct, MON-D	10	lb	6	0.9744	36.56	4329058	
883	Veg, Canned	Pumpkin, Solid Pack, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	1.2320	48.95	1352368	
884	Veg, Canned	Sauerkraut, Chopped, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	1.0192	38.20	1328749	*
885	Veg, Cenned	Spinach, Chopped, U.S. Grade A Fancy, approx 6/10's	POPEYE	10	lb	6	0.8016	27.97	1011519	
886	Veg, Canned	Spinach, Chopped, Water Packed, Salt & Sugar Free, 12/303 container							1 (14) (15)	
887	Veg, Canned	Spinach, Whole Leaf, U.S. Grade A Fancy, approx 6/10's	POPEYE	10	lb	6	0.7936	27.98	6011506	
888	Veg, Canned	Squash, Yellow, Low Sodium, 12/303's containers								
889 V	/eg, Canned	Sweet Potatoes, Whole & Pieces, Light Syrup, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.8160	32.10	2326502	
390 V	/eg, Canned	Sweet Potatoes, Whole 40- 50 ct, Heavy Syrup, U.S. Grade A Fancy, approx 6/10's	MON-D	10	lb	6	0.8560	33.38	7326499	•
391 V	eg, Canned	Three Bean Salad,6/#10	MON-D	10	lb	6	0.7440	30.95	9330283	*
92 V	eg, Canned	Tomato Paste, 10 -12% Solids, U.S. Grade E Extra Standard, approx 6/10's	MON-D	10	lb	6	0.7616	31.42	3340163	*
93 Ve	eg, Canned	Tomato Puree, approx 104.5 specific gravity, U.S. Grade B Extra Standard, approx 6/10's	MON-D	10	lb	6	0.4976	19.40	4522785	*
94 Ve	eg, Canned	Sauce, Spaghetti, Meatless 6/10#	, MON-D	10	lb	6.	0.5808	22.63	3328168	
95 Vs	ng, Canned	Tomato Sauce, U.S. Grade B Extra Standard, approx 6/10's	MON-D	10	lb	6	0.4832	19.38	7328503	*
96 Ve	g, Canned	Tomato, Whole & Large Pieces, Salt & Sugar Free, 12/303 containers	RED GOLD	10	lb	6	0.5840	22.14	2172542	*
)7 Ve	g, Canned	Tomatoes, Crushed, U.S. Grade C, approx 6/10's	MON-D	10	lb	6	0.4880	19.05	8328486	*
8 Veg	g, Canned	Tomatoes, Diced, US Grade B 6/10's	MON-D	10	lb	6	0.4672	17.68	2328508	
9 Veg	g, Canned	Tomaties, sliced, no salt, dietetic	RED GOLD	10	. lb	6	0.6208	23.54	2172542	*
0 Veg		Tomatoes, Whole, U.S. Grade A Fancy, approx 6/10's	HARVEST VL	10	lb	6	0.4800	17.98	9329269	
1 Veg	, Canned	Tomatoes, Stewed 6/#10	WON-D	10	lb	6	0.5376	20.39	9330176	*
2 Veg.	. Canned	Vegetarian Beans, 6/#10	MON-D	10	ib	6	0.5008	20.48	5329081	*
yeg,		Veg, Mixed, U.S. Grade A Fancy, approx 5/10's	/ON-D	10	lib	6	0.8816	34.41	8330078	
l Veg,	Canned V	Vax Beans, 6/#10	ION-D	10	lb	6	0.8720	33.05	6330138	

905	Veg, Canned	Chili Con Carne 6/#10 Beans, Dried, Great Northern, U.S. #1,		34.5			E, ROCK.			
906	Veg, Dry	approx 25 lb cont	MONARCH	20	lb	1	0.8900	17.80	5841333	
907	Veg, Dry	Beans, Dried, Navy, U.S. #1, approx 25#	MONARCH	20	lb	1	0.9200	18.40	5844535	
908	Veg, Dry	Beans, Dried, Pinto, U.S. #1, approx 25#	DELPASDO	20	lb	1	0.8900	17.80	2332344	
909	Veg, Dry	Garlic, Chopped, 32 oz. Tube	ROSELI	32	OZ.	11	0.1263	4.04	9330671	*
910	Veg, Dry	Lentils, Dry, 24/1#								
911	Veg, Dry	Peppers, Green, Dehydrated, Cans, approx 32 oz cont	MCCORMICK	28	OZ	1	1.3614	38.12	9289125	
		Potatoes, Instant, Flakes, Dehydrated, 6/10#			lb	6	1.2153	38.72	8552663	
912	Veg, Dry	Potatoes, Pearls, Instant, dehydrated, 12/26	MONARCH	5.31	ID ID		,			
913	Veg, Dry	oz	BASIC AM	28	oz	12	0.1315	44.18	4122750	
914	Veg, Frozen	All Vegetable Stir Fry, Frozen, 12/2#	MONARCH	2	lb	12	1.0658	25.58	1327857	
915	Veg, Frozen	Asparagus, Spears, US Grade A, All Green, Cut 3.75" lengths, approx 3 lb cont	MONARCH	2.5	lb Zasta Sasta (sasta	6	4.4967	67.45	5705694	
916	Veg, Frozen	Autumn Blend, Frozen, 12/2#								
	1	Beans, Green, Cut, Small Grade A, Packed 2 - 4 Sieve, Cut 3/4" - 1 1/4", String less, No				40	0.0000	00.04	0007000	
917	Veg, Frozen	stems, approx 3 lb cont. Beans, Green, French Cut, Small Grade A.	HARVEST VL	2	lb	12	0.8600	20.64	3327699	
918	Veg, Frozen	Pods sliced lengthwise, String less, No stems, approx 3 lb cont.	MONARCH	2	lb	12	0.8721	20.93	4328225	*
919	Veg, Frozen	Beans, Lima, Baby, US Grade A, All green, tess than 5% pale green, approx 3 lb cont.	HARVEST VL	20	łb	1	1.1980	23.96	7328222	
920	Veg, Frozen	Broccoli, Cuts, US Grade A, Cut Approx 1" lengths, 75% stem, 25% tips, approx 3 ib cont	HARVEST VL	20	lb	1	0.8775	17.55	3328424	
921	Veg, Frozen	Broccoli, Florets, 12/2#	FINELINE	2	lb	12	0.9892	23.74	2303881	
		Brussel Sprouts, Medium Size, US Grade A, 3/4" - 1 ½" dlameter, Average 70 - 95 sprouts			i					
922	Veg, Frozen		HARVEST VL	2.5	pkg	12	2.3550	28.26	4328472	
923	Veg, Frozeп		MONARCH	4	lb	6	1.7425	41.82	1546944	
924	Veg, Frozen	Carrots, Sliced, US Grade A, Bright Orange- Yellow Color, US Grade A, Slices less than 3/8" thick, not more than 1" diameter, approx 2.5 lb cont	HARVEST VL	20	lb	1	0.6800	13.60	2328235	•
02.		Carrots, Whole, Tiny, US Grade A, Bright								
025	Veg, Frozen	Orange-Yellow Color, US Grade A, Slices less than 3/8" thick, not more than 1"	MONARCH	2	lb	12	0.9858	23.66	9327834	
925	, og i rozeri	Cauliflower, White Clusters, Grade A,								
926	Veg, Frozen	Clusters range from 3/4" to 2" diameter, 12/2# Bags	MONARCH	2	lb	12	0.9608	23.06	6328132	
927	Veg, Frozen	Corn, Cobbettes, Whole Kernel, 3" ears, approx 96 each per case.	MONARCH	1	case	96	24.1000	24.10	4328118	
928	Veg, Frozen	Corn Nuggets, 6/2#	VIOLLYS KIT	2	lb	6	2.0958	25.15	9332651	
929	Veg, Frozen	Corn, Souffle, approx 4 lbs cont	STOUFFERS	72	lb	4	2.7306	49.15	7003130	*
	Veg, Frozen	Corn, Whole Kernel, Yellow, Small tender	HARVEST VL	20	lb	1	0.8170	16.34	4328233	
Ī		Green Pepper, Rings, Breaded			lb	·			nb	
			MONARCH	2	lb	12	1.3033	31.28	9328345	*
932	/eg, Frozen	Green Peppers, Diced, Frozen, 12/2#	MUNARCH		10	12	1.0030	31.20	9320343	

	933	veg, Frozen	Green Peppers, Stuffed, Frozen, 4/83 oz	MOLLYS KIT	83	oz	4	0.1417	47.03	9326299	,
#			Greens, Collards, Chopped, U.S. Grade	4,							
8	34	Veg, Frozen	Thoroughly cleaned, All stems tender and less than 20% total weight, approx 3 lbs of the clean than 20% total weight, approx 3 lbs of t	ont							
9	35	Veg, Frozen	Greens, Kale, Chopped, U.S. Grade A, A stems tender and less than 20% total wei approx 3 lbs cont								
9:	36	Veg, Frozen	Greens, Spinach, Chopped, U.S. Grade A All portions tender, stems less than 20% t weight, approx 3 lbs cont		3	1b	12	0.9672	34.82	8630287	
93	37	Veg, Frozen	Greens, Spinach, Cut Leaf, U.S. Grade A, portions tender, stems less than 20% total weight, approx 3 lbs cont		3	Ib	12	0.9878	35.56	7899610	
93	88	Veg, Frozen	Greens, Turnip, Cut Leaf, U.S. Grade A, A portions tender, stems less than 20% total weight, approx 3 lbs cont	PACKER	3	lb	12	0.9336	33.61	3414356	*
93	9	Veg, Frozen	Kyoto Vegetables	CLNRY SLCT	2.5	lb	6	2.0233	30.35	4371688	*
94	0 🗸	∕eg, Frozen	Mixed Veg, US Grade A, 5 Items, (Diced carrots, green peas, whole kernel cut corn, cut green beans, baby lima) Properly blanched to produce colorful, even cooked product. approx 3 lbs cont	MONARCH	2.5	lb	12	0.8647	25.94	2328276	
		/ P	March Very 112 Oct 1 A 11 III						20.04	2020210	
941	1 10	eg, Frozen	Mixed Veg, US Grade A, Italian	HARVEST VL	20	lb lb	1	0.9755	19.51	5328471	
942	2 ∨€	eg, Frazen	Onion Rings, US Grade A, Breaded, Pressed, No Flakes, approx 60 rings per package, approx 3 lbs cont	FRED'S	2	lb	8	2.0300	32.48	3357845	
943	Ve	eg, Frozen	Onion, Chopped, US Grade A, Firm and Tender Pleces, 1 lb bags	MONARCH	2	lb	6	0.7825	9.39	8327629	*
944	Ve	eg, Frozen	Oriental Blend, Frozen, 12/2#	MONARCH	2	lb	12	1.2267	29.44	3328333	
945	Ves	g, Frozen	Peas and Carrots, (approx 60% peas & 40% carrots), U.S. Grade A, approx 3 lbs cont	HARVEST VL	20	lb	1	0.8010	16.02	9328451	
946	Veg	g, Frozen	Peas and Onions, (approx 80% peas & 20% onions), U.S. Grade A, approx 3 lbs cont	MONARCH	2.25	lb	12	1.1287	33.86	6328280	
947	Veg	ş, Frozen	Peas, Green, US Grade A, All green, Uniform Size, 2 -3 sieve, approx 3 ibs cont	HARVEST VL	20	lb	1	0.9420	18.84	8328247	
948	Veg	, Frozen	Pepper & Onion, Frozen, 12/2#	MONARCH	2	lb	12	1.0842	26.02	8327579	
149	Veg,	, Frozen	Potatoes, French Fries, U.S. Grade A, Crinkle cut, bakeable and selected long cuts from Idaho potatoes, No small pieces or ends, Blanched and free of defects, approx 5 lbs cont	RAPID RSST	5	dl	6	0.7033	21.10	2161503	*
50 İ	Vea.	J	Potatoes, French Fries, U.S. Grade A, sliced and selected long cuts from Idaho potatoes, No small pieces or ends, Blanched and free of defects, regular cut 5/16" x 4" max, approx 5 lbs cont	HARVEST VL	4.5	lb	6	0.7000	40.44		
					*		-	0.7200	19.44	8327041	
51	veg,		Potatoes, Hash Brown, loose shredded 3 lbs	MONARCH	3	lb	6	0.9200	16.56	700039	
52	Veg, F	Frozen	Potatoes, Hash Brown, Diced, 6/5# bags	PRIV RESRV	6	lb	6	0.9764	35.15	5126719	
3	Veg, F		Potatoes, Hash Brown, Individual Portions, approx 3 oz., approx 96 per case	AMB WESTN	2.25	case	240	42.4200	42.42	1970193	
4	/eg, F		Potatoes, Tater Tots, Small bite size grated potato balls, approx 5 lbs cont	MONARCH	5	lb	6	0.9387	28.16	68106	
5	/eg, F	rozen P	Potatoes, Waffle Cut, French Fries	/ONARCH	4.5	Ιb	6	1.0600	28.62	9328006	
3 V	eg, Fı	rozen S	candinavlan Vegetables, 30#	10NARCH	4	lb	6	1.0500	25.20	7327828	
, , v	eg, Fr	G	quash, Sliced Summer, Bright Yellow, US trade A, Packed tender squash, transverse uts, 3/8" x 2" max diameter, approx 3 lbs ont	IONARCH	20	lb	1	0.9250	18.50	6327720	

					Y 2 18 11 - Att	1 12 . 10 1 12 . 10 gs	10			
		Sweet Potatoes, Yams, Whole, U.S. Grade								
1		A, Golden Color, Free of peelings, rootless,								
958	Veg, Frozen	and untrimmed fibrous ends, not larger than medium size 3, over 1 ½" diameter. Apr. 5#								
959	Veg, Frozen	Vegetable Sticks, 6/2#	MOLLYS KIT	2	lb	6	1.9458	23.35	6332704	*
		Zucchini, Sliced, Bright Green, US Grade A.								
		Packed tender squash, transverse cuts, 3/8"				1 40	0.0047	00.40		
960		x 2" max diameter, approx 3 lbs cont	MONARCH	3	lb	12	0.9217	33.18	6328397	
961	Veg Frozen	Oval Hashbrowns Ovanable 3 oz	LAMB WESTN	2.25	0Z	240	0.0786	42.42	1970193	CA STANARA
962		French Fry Steak Cut 6/5#	MONARCH LAMB SESND	5	lb lb	6	0.9527	28.58 28.02	4369781	
963		French Fry Potato Wedge Spicy Breaded Okra 4/3# bag	GLDEN VALU	3	lb lb	4	1.6933	20.32	9005109 6729586	*
964	Veg Frozen	Sweet Potato Fries 6/2.5#	MONARCH	3	lb lb	5	1.7833	26.75	2855716	
966	Dairy	Orange Cream Magic Cups 48/4z	Magic Cup	4	oz	48	0.1951	37.45	4073078	*
967	Dairy	Wild Berry Magic Cups 48/4z	Magic Cup	4	OZ OZ	48	0.1951	37.45	5073077	*
968	Dairy	Vanilla Magic Cup	Magic Cup	4	oz	48	0.1951	37.45	8262594	*
	17	Sugar Free Vanilla Magic Cups Supplement	magic cop	 			0.1001	071.40	OLOLOU-	
969	Dairy	48/4z	Magic Cup	4	0Z	48	0.2194	42.12	7373509	*
970	Dessert	Pies,Lemon Mer. 24/3.5z	Sara Lee	3.5	oz	24	0.3800	31.92	7654460	*
971	Dessert	Pies,Peanut Butter Pie 24/2.5z	Edwards	2.5	oz	24	0.4662	27.97	4376802	· ·
				_						
972	Meats	Ham,Salad 2/5#	RESER'S	5	1b	2	3.6340	36.34	529305	
973	Beverage	Thick & Easy Coffee/Honey 75/12gm	HORMEL	12	oz	75	0.9638	30.60	8272486	
313	Levelage	Thick d Lasy Concertors 70/12gm	CASTA ATA	A. ACTOR		1974 1884		30.00	5-11-7-15-0	
		Sweet Potatoes, Yams, Whole, U.S. Grade								
		A, Golden Color, Free of peelings, rootless, and untrimmed fibrous ends, not larger than								
974		medium size 3, over 1 ½" diameter. Apr. 5#								
975	Beverage	Thick & Easy Coffee/Nectar 75/12gm	HORMEL	12	oz	75	0.9531	30.26	5272497	
976	Snacks	Cookie,Chocolate Cream SF 120/3ct	KEEBLER	3	case	120	48.6000	48.60	3270170	
977	Snacks	Cookie, Animal 100/1z	AUSTIN	1	oz	100	0.1852	18.52	6305130	
978	Snacks	Cookie,Peanut Butter 60/2.5z	Grandma's	2.5	oz	60	0.1173	17.60	5735055	*
979	Snacks	Cookle, Oatmeal Raisin 60/2.5z	Grandma's	2.5	oz	60	0.1173	17.60	5735121	
980	Snacks	Cookie,Chocolate Chip 60/2.5z	Grandma's	2.5	02	60	0.1173	17.60	5734900	*
004	Canada	Cookin Suran Fran Cohuna Balain 400/04	FID	24		100	0.0550	54.45	7074044	*
981	Snacks	Cookle, Sugar Free Oatmeal Raisin 106/21gm	FIPI	21	0Z	106	0.6552	51.45	7671241	
982	Snacks	Cookie, Assorted Fruit 216/.9z	Darlington	0.9	oz	216	0.2094	40.70	2507804	
302			Darlington		- 02		0.2004	40.70	2007004	
983	Snacks	Cookie, Sugar-Free Soft & Chewy, Lemon Cookies 106/.75z	Darlington	0.75	0Z	106	0.3794	30.16	9254392	
		Cookie,Sugar-free Soft & Chewy Chocolate								
984	Snacks		Darlington	0.75	0Z	106	0.3794	30.16	8254393	
985	Baking	Waffle,Maple Cooked Frozen,mini 72/2.47z	Pillsbury	2.47	oz	72	0.1790	31.84	6975924	*
	D-41:		_	0.00	1		0.4000		704755	
986	Baking	Pancake,Blueberry pouch mini 72/3.03z	Eggo	3.03	0Z	72	0.1898	41.40	7613284	* ************************************
987										
901	<u> 2015 - Gerland M</u>		e filosofició de la companiente del companiente del companiente de la companiente de la companiente de la companiente de la companiente del companiente de la companiente de la companiente de la companiente de la companiente de la companiente del companiente del companiente del companiente del companiente del companiente dela companiente del companiente del companiente del companiente del		50 pm 52224 (1387)			# 5 My (18 M)	્દી કોરોકુ સિલ્ડિંગ કરે, ક્રો	
988	condiments	Creamer,Half & Half 360/.375z	Glenview Farms	0.375	oz	360	0.1133	15.30	9341223	
				$\overline{}$						100 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
989	breads frozen	Sausage,egg & cheese Biscuits 12/4.9z	Jimmy Dean	4.9	oz	12	0.3340	19.64	1426048	*
990	desserts	Ice Cream,Strawberry 48/4z	Glenview Farms	4	oz	48	0.0679	13.04	4863590	*
		Popsicle,Sugar-Free,assorted flavors				,				
991	desserts	20/11.65z	Good Humor	1.65	0Z	120	0.1031	20.42	2607505	* 70% 4 3816 2-44
1		Ice Cream, Vanilla Bean 3 gal	Chefs Line	3	gal	1	10.1267	30.38	6758940	
992			011010 21110		30.				· ·	
	desserts		Blue Bunny	4	0Z	48 48	0.1214	23.30	3346903 5574828	*

	995	snøcks	Pudding, Sugar-Free Chocolate 48/4z	Kozy Shack	4	OZ	48	0.1301	24.98	2258689	*
	996	snacks	Pudding,Sugar-Free Vanilla 48/42	Kozy Shack	4	OZ	48	0.1301	24.98	1258680	
	⁷ 997	snacks	Prosource gelatin 20 Fruit Punch 36/4z	FIPI	4	OZ	36	0.7553	108.76	1839190	
	998 s	nacks	Prosource gelatin 20 Orange 36/4z	FIPI	4	OZ	36	0.7553	108.76	1839174	
	1000 8	Snacks	Gelatin,Strawberry/orange RTU 12/4/3.5a	t Hunts	4	OZ	48	0.1027	17.26	9182858	*
	1001 S	Snacks Gelatin, Sugar-Free Assorted Flavors 48/3		3.5z							
	1002 S	nacks	Gelatin,Orange Jello with mandarin orang 36/4.3z	es Dole	4.3	oz	36	0.1345	20.82	7324965	*
	1003 S	necks	Applesauce, Light 72/4z	MONARCH	4	oz	72	0.0842	24.25	5790316	
	004 Sr	nacks	Crackers, Goldfish, Indiv Packs 300/.75z	Goldfish	0.75	oz	300	0.2236	50.30	2315760	
1	005 Sn	ıaoks	Crackers, Graham PB&J Sandwich 160/2.	2z ADVANCE	2.2	0z	160	0.2534	89.20	3901469	*
1	006 Me	eats	Bacon 150ct.Hickory Smoked 2/150 ea	Patuxent Farms	s 2.4	lb	1	13.7000	32.88	3649605	
11	007 Me	ats	Beef,Cheeseburger Flame broiled 12/4.3z	Ball Park	4.3	oz	12	0.3725	19.22	1902931	
10	008 Bre	ad	Bread, Assorted Blueberry Mini loaves 120/	2z SUPER BK	2	oz	120	0.1548	37.15	1780798	1.
)09 Bre	ad	Bread, Zucchini 70/3.4z	SUPER BK	3.4	02	70	0.1687	40.15	1965664	*
10	10 Bre	ad	Bread,Banana Bread 70/3.4z	SUPER BK	3.4	oz	70	0.1687	40.15	1910306	*
10	11 Veg	etable	Potato sliced par-cooked Home Fry 2/10#	CROSS VALY	10	lb	2	0.8160	16.32	1488212	*
_	12 Sne		Fruit Snack Assorted Flavors 200/.9z	Brach's	0.9	oz	200	0.3566	64.18	1230408	17.00
	13 Bev		Juice Base,Apple 4:1 3/128z	MONARCH	128	02	3	0.1656	63.60	939926	Ŕ
<u> </u>	14 Bev	-	Juice Base Cranberry 4:1 3/128z	MONARCH	128	02	3	0.2132	81.88	4418646	
10	_		Julce, Apple Bag-n-box 3 gal	MONARCH	3	gal	1	21.2000	63.60	939926	*
10	_		Julce, Cranberry Bag-n-box 3 gal	MONARCH	3	gal	1	27.2933	81.88	4418646	
10	_		Juice, Orange Bag-n-box 3 gal Juice, White Grape Bag-n-box 3 gal	MONARCH	3	gal	1 1	26.6000	79.80	915447	
101	- 		Sweet Tea, Bag-n-box 3 gal	Growers MONARCH	3	gal	1 1	24.1500	72.45	3396629	
102	_		Unsweetened Tea,Bag-n-box 3 gal	Growers	3	gal	1	18.7833	56.35	906743	
102			Juice, Pineapple 5.5 oz can 48/5.5z	THIRSTER	5.5	gal	48	0.1073	40.32 28.34	4252755 4470019	*
102	_		Bottled Spring Water 8 oz 24/8z	THIRSTER	10	OZ.	24	0.0183	4.40	7642317	
102		rage	Shasta Caffeine Free Cola 8z 48/8z	Shasta	8	oz	48	0.0357	13.69	9273947	*
102	4 Bever	rage	Shasta Caffeine Free Ginger Ale 48/8z	Shasta	8	OZ	48	0.0357	13.69	2108694	*
102	5 Bever	rage	ShastaCaffeine Free Diet Cola 48/8z	Shasta	8	0Z	48	0.0357	13.69	1273820	*
102	6 Bever	age	Shasta CaffeineFree Diet Ginger Ale 48/8z	Shasta	8	oz	48	0.0357	13.69	9273814	*
102	7 Dairy		Cottage Cheese, 4 oz 8/4/4z	Breakstone	4	0Z	32	0.1741	22.28	4268264	#
1028			Activia Yogurt 4 oz 24/4z	Activia	4	oz	24	0.1035	9.94	131995	*
1029	Dairy		Cheddar Cheese Squares 100/.75z	Glenview Farms	0.75	oz	100	0.2773	20.80	66662	*
1030	Dairy		Refridgerated Mozzerella Sticks 168/1z	ROSELI	1	0Z	168	0.2442	41.03	8805137	
1031	Grocer	y Misc I	Macaroni & Cheese Easy Mac 12/7.5z	Chef-boy-ar-dee	7.5	oz	12	0.1559	14.03	9110982	*
1032	Grocer	y Misc F	Ravioli,Canned 12/7.5z	Chef-boy-ar-dee	7.5	oz	12	0.1559	14.03	5050000	*
1033	Bevera	ge (Caffeine Free Coffee Douwe 2/1.25 It	Douwe Egberts	1.25	liter	2	41.8600	104.66	2973501	
1034	Soup	s	Single Serve Soup 27/7.25	CAMPBELL	7,25	oz	24	0.1192	20.74	4001988	*
1035	Grocery	y Misc F	Pepperoni Pizza, Individual 24/5.57z	Tony's	5.57	oz	24	0.2065	27.60	1010867	*
1036	Gracery	/ Misc P	eanut Butter, Individual Packs 200/.75z	MONARCH	0.75	02	200	0.2081	31.21	4969739	
1037	Snacks	R	aisins,Seedless Bag 144/1.3z	Power Snack	1.3	oz	144	0.2503	46.86	2980233	
1038	Grocery	Misc F	rench Toast,Heat & Serve 2/5#	Hilltop Hearth	5	lb	2	0.1050	16.80	5734298	-0.40 (\$-0.00 €) ★
1039	Meats		hicken Nugget Breaded 4/5#	Tyson	5.31	lb	2	0.1279	22.20	6071948	2.324
1040	Condime			US Foods	1	case	2,000	17.3600	17.36	2947372	
1041	condime	onts Si	ugar Substitute,Blue Lite	US Foods	1	case	2,000	19.9000	19.90	2944510	*
1042	Spice/Se	easoning Se	easoning, 17 spice blend,salt free 500/.5gm	LAWRY'S	0.5	lb	500	83.3200	45.93	5012620	*
1043	condine	nts Dr	ressing,Vinaigrette Raspberry 60/1.5z	KRAFT	1.5	oz	60	0.2201	19.81	71449	
1044	Snacks	As	sorted Potato Chips indiv bags 2/30 ea	AY'S	30	case	2	27.9200	27.92	8640112	*

1045	Snacks	Assorted Baked Chips Indiv bags 2/30 ea	BAKED LAYS	30	case	2	27.9200	27.92	8701633	*
1046	Fruit	Diced Pears 48/4z	MONARCH	4	case	48	27.7500	27.75	8364580	
1047	Kitchen Supplies	Full, Pan steamtable 50/ case	Monogram	1	case	50	48.5600	48.56	9357559	
1048	Kitchen Supplies	Full,Pan steamtable cover 50/case	Monogram	1	case	50	23.5700	23.57	7737141	
1049	Kitchen Supplies	Aluminum Half-size pans 50/case	Monogram	1	case	100	29.3600	29.36	7737638	
1050	Kitchen Supplies	Aluminum Half-size pan LIDS 50/case	Monogram	1	case	100	22.3300	22.33	7737109	
1051	Kitchen Supplies	Foam Container 9 x 9 - 3 compartment 150/cs	Monogram	1	case	150	13.3000	13.30	6617443	
1052	Kitchen Supplies	Foam container 8 x 8 - 1 compartment 150/case	Monogram	1	case	150	13.3000	13.30	8817419	

OVERALL TOTAL COST:

Vendor Name:	US Foods - WV					
Contact Name:	Michael Virag					
Address:	2575 Virginia Avenue Hurricane WV 25526					
Phone No.	(304) 201-6290					
Fax No.	(304) 562-3600					
Authorized Signature						